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TENTATIVE KEY  
FOR 

TNPSC GROUP I PRELIMINARY EXAMINATION 2022 
 

 
1. Alterations in the environments represent selective pressures upon the population to which it 

must adjust. This statement infers that 
a. Organisms will increase in population in a changed environment. 
b. Organisms which fail to adjust to the changed environment must vanish. 

c. environments represent selective pressures upon Organism will change the 

environment under selective pressure. 
d. Answer not known 
Rw;Wr;#oypy; Vw;gLk; khw;wq;fs;> kf;fs; / [d njhifiar; rhp nra;a Ntz;ba 
Njh;e;njLf;fg;gl;l mOj;jq;fisf; Fwpf;fpd;wd vd;gij ,e;j mwpf;if czh;j;JfpwJ 
a. khwptUk; #oypy; caphpdq;fs; njhif mjpfhpf;Fk; 
b. khwpa #oYf;F Vw;g khwhj caphpdq;fs; mope;J Nghf NehpLk; 
c. Rw;Wr;#oypy; Vw;gLk; khw;wq;fSf;F Vw;g caphpdq;fs; jq;fs; cUt mikg;ig khw;wpf; 

nfhs;Sk; 
d. Njh;e;njLf;fg;gl;l mOj;jj;jpd; fPo; caphpdq;fs; #oiy khw;Wk; 
e. tpil njhpatpy;iy 
 

2. Which is the stronger acid than phenol due to the presence of three same electron with drawing 
groups 
(i) O-Toluic Acid 
(ii) Benzoic Acid 
(iii) Salicylic Acid 
(iv) Picric Acid 
a. iii only   b. i only   c. ii and iv only 
d. iv only   e. Answer not known 
gPdhiy tpl typik kpF> kw;Wk; %d;W mNj vyf;l;uhd; fth; jpwd; nfhz;l njhFjpfs; 
ngw;Ws;s mkpyk; vJ? 
(i) O – nlhypapf; mkpyk; 
(ii) ngd;rhapf; mkpyk; 
(iii) rhyprpypf; mkpyk; 
(iv) gpf;hpf; mkpyk; 
a. iii kl;Lk;   b. i kl;Lk;   c. ii kw;Wk; iv kl;Lk; 
d. iv kl;Lk;   e. tpil njhpatpy;iy 
 

3. Match the following: 
A. Polyethyleneglycol  1. Herbicide 
B. Bt Toxin    2. Stress Tolerance 
C. Glyphosate   3.  Insecticide 
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D. Proline    4.  Cell Fusion 
 A B C D 
a. 3 4 1 2 
b. 2 1 4 3 
c. 4 1 3 2 
d. 4 3 1 2 
e. Answer not known 
fPo;f;fz;ltw;iw nghUj;Jf. 
A. ghyp vjpypd; fpisfhy;  1. fisf;nfhy;yp 
B. Bt er;Rfs;    2. mOj;j rfpg;Gj;jd;ik 
C. fpisNghNrl;   3. G+r;rpf;nfhy;yp 
D. GNuhypd;    4. capuZ ,izT 

A B C D 
a. 3 4 1 2 
b. 2 1 4 3 
c. 4 1 3 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 
 

4. ____ was the first mission to be operationalized under the National Action Plan on Climate 
Change (NAPCC) 
a. Solar Cities Programme (SCP)   b. National Solar Mission (NSM) 

c. Solar Green Building (SGB)   d. Development of Solar Cities (DSC) 
e. Answer not known 
fhyepiy khw;wk; Fwpj;j – Njrpa nray; jpl;lj;jpd; fPo; nray;gLj;jg;gl cs;s Kjy; gzp 
____ MFk;. 
a. #hpa xsp efuq;fs; jpl;lk;   b. Njrpa #hpa xsp gzp 
c. #hpa xsp gr;ir fl;blk;    d. #hpa xsp efuq;fspd; tsh;r;rp 
e. tpil njhpatpy;iy 
 

5. Which Biodiversity park in India was announced as the 1st “Other Effective Area – based 
Conservation Measures” (OECMs) site? 
a. Tilpath Valley Biodiversity Park  b. Aravalli Biodiversity Park 

c. Yamuna Biodiversity Park   d. Adayar Ecopark 
e. tpil njhpatpy;iy 
,e;jpahtpy; cs;s ve;j gy;Yaph;g; G+q;fh> KjyhtJ gaDs;s gFjp rhh;e;j ghJfhg;G jskhf 
(OECMs) mwptpf;fg;gl;Ls;sJ. 
a. jpy;gj; gs;sj;jhf;F gy;Yaph;g; G+q;fh  b. Muty;yp gy;Yaph;g; G+q;fh 
c. aKdh gy;Yaph;g; G+q;fh    d. milahW Rw;Wr;#oy; G+q;fh 
e. tpil njhpatpy;iy 
 

6. PM Gatishaki is a transformative approach for economic growth and Sustainable Development 
which focuses on 
a. Educational Development    b. Multimodal Connectivity 

c. Empowerment of SHGs    d. Environmental Development 
e. Answer not known 
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PM fjprf;jp vd;gJ nghUshjhu tsh;r;rp kw;Wk; epiyahd tsh;r;rpf;fhd khw;W mZF 
KiwahFk; ,J _____ ,y; ftdk; nrYj;JfpwJ. 
a. fy;tp tsh;r;rp    b. gd;Kf ,izT  c. SHGs-d; mjpfhuk; 
d. Rw;Wg;Gw #o;epiy tsh;r;rp  e. tpil njhpatpy;iy 
 

7. Which one of the following is NOT an objective of the Union Government’s ‘Beti Bachao Beti 
Padhao’ scheme? 
i. Prevention of gender biased sex selective elimination 
ii. Ensuring survival and protection of the  Girl child 
iii. Ensuring education and participation of the Girl child 
iv. Creating a fixed deposit in the name of the Girl child concerned 
a. i only   b. i and ii    c. iii only 
d. iv only   e. Answer not known 
fPo;fhz;gtw;Ws; vJ ‘Ngl;b gr;Nrh> Ngl;b gj;Njh’ vDk; xd;wpa murpd; jpl;lj;jpd; Nehf;fk; 
fpilahJ? 
i. ghypd mbg;gilapyhd Njh;T ePf;fj;jpidj; jil nra;jy; 
ii. ngz; Foe;ijfspd; tho;T kw;Wk; ghJfhg;gpid cWjp nra;jy; 
iii. ngz; Foe;ijfspd; fy;tp kw;Wk; gq;Nfw;gpid cWjp nra;jy; 
iv. rk;ge;jg;gl;l ngz; Foe;ijapd; ngahpy; epue;ju itg;Gj; njhifia Vw;gLj;Jjy; 
a. i kl;Lk;   b. i kw;Wk; ii    c. iii kl;Lk;  
d. iv kl;Lk;   e. tpil njhpatpy;iy  
 

8. Arrange the following Indian Women Olympic Medal Winners in Chronological order 
1. Saina Nehwal 
2. Lovlina Borgohain 
3. Sakshi Malik 
4. Karnam Malleswari 
a. 2, 4, 1, 3   b. 1, 4, 2, 3   c. 4, 1, 3, 2 

d. 4, 1, 2, 3   e. Answer not known 
xypk;gpf; Nghl;bapy; gjf;fk; ntd;w gpd;tUk; ,e;jpa kfspiu fhythpirg;gb Kiwg;gLj;jTk; 
1. irdh nethy; 
2. yt;yPdh nghh;Nfhifd; 
3. rh~P khypf; 
4. fh;zk ky;Ny];thp 
a. 2, 4, 1, 3   b. 1, 4, 2, 3   c. 4, 1, 3, 2 
d. 4, 1, 2, 3   e. tpil njhpatpy;iy 
 

9. Palmer index is associated with which of the following natural disaster? 
a. Earth quake  b. Volcano   c. Drought 

d. Flood   e. Answer not known 
ghy;kh FwpaPL fPo;fhZk; xU ,aw;if rPw;wj;NjhL njhlh;GilaJ 
a. epyeLf;fk;   b. vhpkiy   c. twl;rp 
d. nts;sk;   e. tpil njhpatpy;iy 
 

10. On April 10, 1802, the Great Trignometrical Survey of India Commenced its work from ____ 
city. 
a. Delhi   b. Calcutta   c. Bombay 
d. Madras   e. Answer not known 
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,e;jpa Kf;Nfhztpay; Ma;T epWtdk; Vg;uy; 10> 1802 -Mk; Mz;L _____ efhpy; jdJ 
Ma;tpidj; njhlq;fpaJ. 
a. nly;yp   b. fy;fj;jh   c. gk;gha; 
d. kjuh];   e. tpil njhpatpy;iy 
 

11. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022 Nobel prize in Chemistry 
for? 
a. For the development of click chemistry and bioorthongonal chemistry. 
b. For discoveries concerning the genomes of extinct hominins and human evolution. 
c. For the development of asymmetric organocatalysis. 
d. For the development of a method for genome editing 
e. Answer not known 
fNuhypd; ngh;Nlh]p> Nkhh;ld; nky;ly; kw;Wk; Nghp ~hh;f;yh;]; MfpNahh; 2022 Mk; Mz;Lf;fhd 
Ntjpapaypy; vjw;fhf Nehgy; ghpir ntd;whh;? 
a. fpspf; nfkp];lhp kw;Wk; gNah Mh;j;Njhfdy; nfkp];l;hpapd; tsh;r;rpf;fhf 
b. mope;JNghd N`hkpdpd;fspd; kugZf;fs; kw;Wk; kdpj ghpzhkk; gw;wpa 

fz;Lgpbg;GfSf;fhf 
c. rkr;rPuw;w Mh;fNdhfhlyprp]pd; tsh;r;rpf;fhf 
d. kugZ vbl;bq; Kiwapd; tsh;r;rpf;fhf 
e. tpil njhpatpy;iy 

 
12. Which one of the following Indicator is not used to calculate Human Development Index 

(HDI)? 
a. Life Expectancy   b. CPI    c. Education Index 
d. Per Capita Income  e. Answer not known 
gpd;tUtdtw;wpy; ve;j xU Fwpfhl;b kdpjts Nkk;ghl;Lf; FwpaPl;ilf; fzf;fpl 
gad;gLj;jg;gLtjpy;iy? 
a. tho;ehs; fhy msT  b. Efh;Nthh; tpiy FwpaPL   c. fy;tp FwpaPL   
d. jdpegh; tUkhdk; e. tpil njhpatpy;iy 
 

13. “Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about 
a. Statewide Block chain infrastructure 
b. Source of resident data for Tamil Nadu 
c. Unified access to e-services of different government departments 
d. Providing professional resources and training to decision makers 
e. Answer not known 
“Nambikkai Inaiyam (NI)” jkpo;ehL muR jpl;lk; gw;wpaJ 
a. khepy  KOtJk; Block chain cs;fl;likg;G 
b. jkpo;ehl;bw;fhd FbAhpik juTfspd; Mjhuk; 
c. gy;NtW murhq;fj; Jiwfspd; e-NritfSf;fhd xUq;fpize;j mZfy; 
d. KbntLg;gth;fSf;F njhopy;Jiw tsq;fs; kw;Wk; gapw;rpfis toq;Fjy; 
e. tpil njhpatpy;iy 
 

14. Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims at  
1. Increasing the cultivable area 
2. Bringing fallow land under cultivation 
3. Changing the crop pattern with introduction of new crops. 
4. Augmenting water resources 
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a. 1, 2 and 3 are correct  b. 2, 3 and 4 are correct  c. 1, 2 and 4 are correct  

d. 1, 2, 3 and 4 are correct  e. Answer not known 
fiyQhpd; midj;J fpuhk xUq;fpize;j Ntshz; tsh;r;rp jpl;lj;jpd; Kf;fpa Nehf;fk; 
1. rhFgb gug;ig mjpfhpf;f nra;jy; 
2. njhlh;e;J epyj;ij rhFgbf;F nfhz;L tUjy; 
3. Gjpa gaph;fis mwpKfg;gLj;Jtjd; %yk; gaph; Kiwia khw;Wjy; 
4. ePh; Mjhuq;fis ngUf;Fjy; 
a. 1> 2 kw;Wk; 3 Mfpait rhp   b. 2> 3 kw;Wk; 4 Mfpait rhp 
c. 1> 2 kw;Wk; 4 Mfpait rhp   d. 1> 2> 3 kw;Wk; 4 Mfpait rhp 
e. tpil njhpatpy;iy 
 

15. Which among the following is a scheme of Govt. of India for ensuring the safety and dignity of 
sanitation workers? 
a. Smile    b. Namaste   c. Amber 
d. West    e. Answer not known 
,e;jpa murpd; gpd;tUk; jpl;lq;fSs; Jg;GuT njhopyhsh;fspd; ghJfhg;igAk; kjpg;igAk; 
cWjp nra;tJ vJ? 
a. ];iky;    b. ek];Nj   c. mk;gh; 
d. nt];l;    e. tpil njhpatpy;iy 
  

16. During which Period Bronze Icons of Nataraja deity with four hands was casted? 
a. Chera Period   b. Chola Period  c. Pandiyas Period 
d. Shunga Period   e. Answer not known    
ve;j fhyfl;lj;jpy; ehd;F iffSld; $ba eluh[hpd; ntz;fyr; rpd;dq;fs; thh;f;fg;gl;ld? 
a. Nruh; fhyk;   b. Nrhoh; fhyk;  c. ghz;bah; fhyk; 
d. Rq;f fhyk;   e. tpil njhpatpy;iy 
 

17. Which of the following statements are true in respect of Dr. Muthulakshmi Reddy? 
1. She was the first woman in India to get a degree in medicine. 
2. She was the first woman Legislator in British India. 
3. She was the first female student to be admitted in Maharaja’s college. 
4. She was the first woman President of the legislative council. 
a. 1, 2 and 3    b. 2, 3 and 4   c. 1, 3 and 4 
d. 1, 2, 3 and 4   e. Answer not known 
lhf;lh;. Kj;Jny~;kp nul;biag; nghWj;jtiu gpd;tUk; $w;Wfspy; vJ cz;ikahdJ? 
1. ,e;jpahtpy; kUj;Jtj;jpy; gl;lk; ngw;w Kjy; ngz; Mthh;. 
2. gphpl;b~; ,e;jpahtpd; Kjy; rl;lkd;w cWg;gpduhthh;. 
3. kfhuh[ fy;Y}hpapy; Nrh;e;j Kjy; ngz; khztpahthh;. 
4. rl;l rigapd; Kjy; ngz; jiytuhthh;. 
a. 1> 2 kw;Wk; 3   b. 2> 3 kw;Wk; 4   c. 1> 3 kw;Wk; 4 
d. 1> 2> 3 kw;Wk; 4   e. tpil njhpatpy;iy 
 

18. The Significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016 
a. Modifications in three-tier system 
b. Constitution of District Planning Committees 
c. Transferred specific functions and powers to Panchayats from the State Government 
d. 50 percent reservation  for women 
e. Answer not known 
 
 



 

6 | Page  Ph: 044-24339436, 42867555, 9840226187 
 

jkpo;ehL gQ;rhaj;J uh[; (rl;ljpUj;j kNrhjh) rl;lk; 2016d; rpwg;gk;rk; 
a. %d;wLf;F Kiwapy; khw;wg;gl;lJ 
b. khtl;l jpl;lf; FOf;fis mikj;jJ 
c. Fwpg;gpl;l mjpfhuq;fis khepy murpypUe;J gQ;rhaj;JfSf;F khw;wg;gl;lJ 
d. 50 rjtpfpj ,lxJf;fPL ngz;fSf;F nfhLf;fg;gl;lJ 
e. tpil njhpatpy;iy 
 

19. Assertion [A]: Human Resources is necessary for the progress of any country. 
Reason [R]:  Investment in education and health of people can result in a high rate of 
returns in the future for a country. 
a. Both [A] and [R] are true and [R] explains [A] 
b. Both [A] and [R] are true and [R] does not explain [A] 
c. [A] is correct and [R] is false 
d. [A] is false and [R] is true 
e. Answer not known 
$w;W [A]:  ve;j xU ehl;bd; Nkk;ghl;bw;Fk; kdpj tsk; mj;jpahtrpakhf ,Uf;fpwJ. 
fhuzk; [R]:  fy;tp kw;Wk; kf;fs; eyj;jpy; KjyPL nra;tjd; tpsithf ehl;bd; 
    vjph;fhyj;jpy; mjpf msT gyd; fpilf;Fk;. 
a. [A] kw;Wk; [R] ,uz;Lk; rhpahdJ kw;Wk; [R], [A]it tpsf;FfpwJ. 
b. [A] kw;Wk; [R] ,uz;Lk; rhpahdJ [R], [A]it tpsf;ftpy;iy. 
c. [A] rhpahdJ kw;Wk; [R] jtwhdJ 
d. [A] jtwhdJ kw;Wk; [R] rhpahdJ 
e. tpil njhpatpy;iy 
 

20. Which among the following institutions secured no.1 overall rank according to national 
institutional ranking framework? 
a. IIT, Madras  b. IISC, Bangalore  c. AIIMS, Delhi 
d. IIT, Bombay  e. Answer not known  
gpd;tUk; epWtdq;fspy; vJ Njrpa epWtd ju fl;likg;gpd; gb xl;Lnkhj;j juthpirapy; 
Kjyplj;ijg; ngw;wJ? 
a. IIT, nrd;id  b. IISC, ngq;f@h;  c. AIIMS, nly;yp 
d. IIT, Kk;ig  e. tpil njhpatpy;iy 
 

21. Which of the following statements are true about Ramalinga Adigal? 
i. He  started the Samarasa Suddha Sanmarga Satya Sangam in 1865. 
ii. He was against caste system 
iii. He established Satya Dharma Salai in 1867 
a. i  is true    b. i and iii are true  c. i, ii and iii are true 

d. i and ii are true  e. Answer not known 
gpd;tUtdtw;Ws; ,uhkypq;f mbfs; gw;wpa cz;ikahd $w;W vJ? 
i. ,uhkypq;f mbfs; rkur Rj;j rd;khh;f;f rj;a rq;fj;ij 1865-y; Muk;gpj;jhh; 
ii. ,uhkypq;f mbfs; [hjpa Kiwf;F vjpuhdth; 
iii. ,uhkypq;f mbfs; 1867-y; rj;a jh;k rhiyia epWtpdhh; 
a. i kl;Lk; cz;ikahdJ   b. i kw;Wk; iii kl;Lk; cz;ikahdJ 
c. i, ii kw;Wk; iii cz;ikahdJ  d. i kw;Wk; ii kl;Lk; cz;ikahdJ 
e. tpil njhpatpy;iy 
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22. Find incompatible pair in the following: 
a. Pradhaba Mudhaliar Sarithiram - Vedanayagam Pillai 
b. Sugunasundhari    - Nadesa Sasthiri 
c. Kamalambal Sarithiram   - Rajam Ayyar 
d. Padmavathi Sarithiram   - Madhavaiya 
e. Answer not known 
nghUe;jh ,iziaf; fz;lwpf. 
a. gpujhg Kjypahh; rhpj;jpuk;  - Ntjehafk; gps;is 
b. RFz Re;jhp    - eNlr rh];jphp 
c. fkyhk;ghs; rhpj;jpuk;   - uh[k; ma;ah; 
d. gj;khtjp rhpj;jpuk;   - khjitah 
e. tpil njhpatpy;iy 
 

23. Choose the correct Kural for the explanation given below: 
It is more pleasant to hold the dart that has missed an Elephant than that which has targeted 
the hare in the forest. 
a. Kaana Muyaleydha Ampinil Yaanai 

Pizhaiththavel Endhal Inidu 
b. Aakaaru Alavitti Thaayinung Ketillai 

Pokaaru Akalaak Katai 
c. Kettinum Untor Urudhi Kilagnarai 

Neetti Alappadhor Kol 
d. Ulluvathi Ellam Uyarvullal Matradhu 

Thallinum Thallamai Neerthu 
e. Answer not known 
fPo;f;fhZk; nghUSf;Fhpa jpUf;Fwis njhpT nra;f.  
rpwpa fhhpaq;fspNy Kad;W ntw;wp ngWtij tpl nghpa fhhpaq;fspNy Kad;W Njhy;tp 
miltJ rpwg;G 
a. fhd Kanya;j mk;gpdpy; ahid 

gpioj;jNty; Ve;jy; ,dpJ 
b. MfhW mstpl;b jhapDq; Nfby;iy 

NghfhW mfyhf; fil 
 

c. Nfl;bDk; cz;Nlhh; cWjp fpisQiu  
ePl;b msg;gNjhh; Nfhy; 

d. cs;St njy;yhk; cah;Ts;sy; kw;wJ  
js;spDe; js;shik ePh;j;J 

e. tpil njhpatpy;iy 
 

24. Who said these lines to whom? 
“Maarivaram koorin mannuyir illai 
Mannuyir ellam mannaal Vendhan”. 
a. Manimegala deity to Udhayakumaran 
b. Sudamadhi to Udhayakumaran 
c. Dheevathilagai to Manimegalai 
d. Manimegalai to Udhayakumaran 
e. Answer not known 
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khhptwk; $wpd; kd;Daph; ,y;iy 
kd;Daph; vy;yhk; kz;zhs; Nte;jd;’ – vd ahh;? ahUf;F ciuj;jJ? 
a. kzpNkfyh nja;tk; cjaFkuDf;F  b. Rjkjp cjaFkuDf;F 
c. jPtjpyif kzpNkfiyf;F   d. kzpNkfiy cjaFkuDf;F 
e. tpil njhpatpy;iy 
 

25. Urellam koodi olikka azhuthittu 
perinai neekki pinamenru perittu” 
Who defined death as a undefiable force? 
a. Appar   b. Thirumoolar  c. Sundarar 
d. Manikkavasagar  e. Answer not known 
“Cnuy;yhk; $b xypf;f mOjpl;Lg; 
Nghpid ePf;fpg; gpzk; vd;W Nghpl;L” 
vdr; rhT czh;j;Jk; epiyahik vLj;Jf; $wpath; ahh;? 
a. mg;gh;   b. jpU%yh;   c. Re;juh;  
d. khzpf;fthrfh;  e. tpil njhpatpy;iy 
 

26. Nadaakondro! Kadaakondro! 
avazhi nallai vazhiya nilanae! 
Whose character plays an important role in the shaping of the world Emancipation in 
Purananuru? 
a. Women (Pendir)  b. Men (Aadavar)  c. King (Arasar) 
d. Priest (Anthanar)  e. Answer not known 
“ehlhnfhd;Nwh fhlhnfhd;Nwh 
mt;top ey;iy thopa epyNd” 
Nkw;fhZk; GwehD}w;Wg; ghly; cyf Nkk;ghl;bw;F ahhpd; xOf;fj;ij mbg;gilahff; 
$Wfpd;wJ? 
a. ngz;bh;   b. Mlth;   c. murh; 
d. me;jzh;   e. tpil njhpatpy;iy 
 

27. Which Festival was celebrated throughout Tamilaham during the Sangam Age? 
a. Adipporam  b. Onam   c. Navarathiri 
d. Thiruvathirai  e. Answer not known 
rq;f fhyj;jpy; jkpofk; KOtjpYk; nfhz;lhlg;gl;l gz;bif vJ? 
a. Mbg;G+uk;   b. Xzk;   c. etuhj;jphp 
d. jpUthjpiu   e. tpil njhpatpy;iy 
 

28. Match the following with List I with List II: 
List I     List II 
A. Thirumurukarrupadai 1. Mudattamakanniyar 
B. Porunaratrupadai  2. Nakkirar 
C. Sirupanatrupadai  3. Kapilar 
D. Kurunji Pattu   4. Nallur Naththathanar 
 A B C D 
a. 1 3 2 4 
b.  1 2 4 3 
c. 2 1 4 3 
d. 3 2 1 4 
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e. Answer not known 
gpd;tUtdtw;iwg; gl;bay; I-NwhL gl;bay; II-idg; nghUj;Jf. 
gl;bay; I    gl;bay; II 
A. jpUKUfhw;Wg;gil  1. Klj;jhkf;fz;zpahh; 
B. nghUeuhw;Wg;gil  2. ef;fPuh; 
C. rpWghzhw;Wg;gil  3. fgpyh; 
D. FwpQ;rp ghl;L   4. ey;Y}h; ej;jj;jdhh; 

A B C D 
a. 1 3 2 4 
b.  1 2 4 3 
c. 2 1 4 3 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

29. Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015,… 
a. 0.1  b. 0.01  c. 0.001 d. 1  e. Answer not known 
0.15, 0.015, 0.0015,… vd;w ngUf;F njhlh; thpirapd; nghJtpfpjk; fhz;f. 
a. 0.1  b. 0.01  c. 0.001 d. 1  e. tpil njhpatpy;iy  
 

30. Find the sum of 12 + 22 +… + 192 
a. 2500 b. 2400 c. 2470  d. 2570 e. Answer not known 
$Ljy; fhz;f: 12 + 22 +… + 192 
a. 2500 b. 2400 c. 2470  d. 2570 e. tpil njhpatpy;iy  
 

31. The compound interest on Rs. 16,000 for 9 months at 20% per annum compounded quarterly is 
a. Rs. 2,599   b. Rs. 2,572    c. 2, 522 

d. Rs. 2,502   e. Answer not known 
20% Mz;L tl;bapy; fhyhz;Lf;F xUKiw tl;b fzf;fplg;gLk; Kiwapy; &. 16,000 -f;F 9 
khjq;fSf;F fpilf;Fk; $l;L tl;bahdJ 
a. &. 2,599   b. &. 2,572    c. &.2, 522 
d. &. 2,502   e. tpil njhpatpy;iy 
 

32. In what time period will Rs. 10,000 earn an interest of Rs. 2,000 at 10% per annum? 
a. 2 years    b. 5 years   c. 6 years 
d. 3 years    e. Answer not known 
mry; &. 10>000 MdJ> Mz;Lf;F 10% tl;b tPjj;jpy;> vj;jid Mz;Lfspy; &. 2>000 tl;biag; 
ngw;Wj; jUk;? 
a. 2 Mz;Lfs;  b. 5 Mz;Lfs;  c. 6 Mz;Lfs; 
d. 3 Mz;Lfs;  e. tpil njhpatpy;iy 
 

33. If the HCF of x4 + 3x3 +5x2 + 26x + 56 and x4 + 2x3 – 4x2 – x + 28 is x2 + 5x + 7. Then their LCM is 
a. (x2 + 2x + 8)(x4 + 2x3 – 4x2 – x + 28)  b. (x2 + 2x - 8)(x4 + 2x3 – 4x2 – x + 28) 
c. (x2 – 2x + 8)(x4 + 2x3 – 4x2 – x + 28)  d. (x2 – 2x - 8)(x4 + 2x3 – 4x2 – x + 28) 
e. Answer not known 
x4 + 3x3 +5x2 + 26x + 56 kw;Wk; x4 + 2x3 – 4x2 – x + 28 vd;w gy;YWg;Gf; Nfhitfspd; kP.ngh.t. x2 

+ 5x + 7 vdpy; mtw;wpd; kP.ngh.k-d; kjpg;G ______ MFk;. 
a. (x2 + 2x + 8)(x4 + 2x3 – 4x2 – x + 28) b. (x2 + 2x - 8)(x4 + 2x3 – 4x2 – x + 28) 
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c. (x2 – 2x + 8)(x4 + 2x3 – 4x2 – x + 28) d. (x2 – 2x - 8)(x4 + 2x3 – 4x2 – x + 28) 
e. tpil njhpatpy;iy 
 

34. Which one of the following is a pair of co-primes? 
a. (16, 62)   b. (18, 25)   c. (21, 35) 
d. (23, 92)   e. Answer not known 
gpd;tUtdtw;Ws; ve;j xU Nrhb vz;fs; rhh;gfh vz;fs;? 
a. (16, 62)   b. (18, 25)   c. (21, 35) 
d. (23, 92)   e. tpil njhpatpy;iy 
 

35. Assertion [A]: The New Educational Policy (NEP) envisages a complete overhaul 
    of teaching – Learning process from the traditional teacher – 
    centered to learner centric approach. 
Reason [R]:  NEP ensures that holistic development of students by accentuating 
    their creative potential. 
a. [A] is true but [R] is false 
b. [A] is false, [R] is true 
c. Both [A] and [R] are true; and [R] is the correct explanation of [A] 
d. Both [A] and [R] are true but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]: fw;gpj;jy; - fw;wy; nray;Kiwapd; KOikahd kWrPuikg;gpw;fhf> Gjpa 
   fy;tpf;nfhs;if> ghuk;ghpa Mrphpah; ikakhf ,Ue;j fw;wy;> fw;gthpd; 
   ika mZFKiwahf cUthfpd;wJ. 
fhuzk; [R]: Gjpa fy;tp nfhs;ifapy; khzth;fspd; Mf;fG+h;tjpwid cah;j;jp 
   mth;fspd; KOikahd tsh;r;rpia cWjp nra;jy;. 
a. [A] vd;gJ rhp Mdhy; [R] vd;gJ jtW 
b. [A] vd;gJ jtW> Mdhy; [R] vd;gJ rhp 
c. [A] kw;Wk; [R] ,it ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] apd; rhpahd tpsf;fk;. 
d. [A] kw;Wk; [R] ,it ,uz;Lk; rhp Mdhy; [R] vd;gJ [A] apd; rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

36. Indian economy is marked by the existence of 
i. Low per capita income 
ii. High proportion of the working population is engaged in industries 
iii. Improving rate of capital formation 
iv. Problems in the employment 
a. i and ii are correct   b. i and iii are correct c. ii and iii are correct 
c. ii and iv are correct  e. Answer not known 
,e;jpag; nghUshjhuk; ,jd; %yk; Fwpf;fg;gLfpwJ 
i. Fiwe;j jyh tUkhdk; 
ii. ciof;Fk; kf;fs; mjpf tpfpjj;jpy; njhopw;rhiyfspy; <Lgl;Ls;sik 
iii. Nkk;gLj;jg;gl;l %yjd cUthf;f tpfpjk; 
iv. Ntiy tha;g;gpy; rpf;fy;fs; 
a. I kw;Wk; ii rhpahdit   b. i kw;Wk; iii rhpahdit 
c. ii kw;Wk; iii rhpahdit  d. ii kw;Wk; iv rhpahdit 
e. tpil njhpatpy;iy 
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37. Jawaharlal Nehru wrote in 1961 ‘India as a secular state honours all faiths equally and gives 
them equal opportunities’. S. Radhakrishnan as President of India too expressed ‘When India is 
said to be secular state, it does not mean that we as a people reject the reality of an unseen spirit 
or the relevance of religions to life or that we exalt irreligion. It does not mean that secularism 
itself becomes a positive religion or that the state assumes divine prerogatives’. 
Which one of the following is best implied in the passage? 
a. Indian secularism is a religious, irreligious or antireligious 
b. Indian secularism is perfectly compatible with religiosity 
c. Indian secularism does not recognise the importance of religion in the public space 
d. Indian secularism is not required to give each religion equal consideration 
e. Answer not known 
,e;jpah xU kjr;rhh;gw;w ehL> midj;J kjq;fisAk; rkkhf kjpf;fpwJ kw;Wk; mth;fSf;F 
rk tha;g;Gfis toq;FfpwJ vd 1961y; NeU vOjpdhh;. mij ,e;jpahtpd; [dhjpgjpahf 
,Ue;j uhjhfpU~;zd; “kf;fshfpa ehk; fz;Zf;F njhpahj Mtpapd; ajhh;j;jijNah my;yJ 
tho;f;iff;F kjq;fspd; nghUj;jj;ijNah epuhfhpf;fpNwhk;> my;yJ kjj;ij cah;j;JfpNwhk;> 
vd;W mh;j;jky;y kjr;rhh;gpd;ikNa xU Neu;kiwahd kjkhf khWfpwJ my;yJ muR nja;tPf 
chpikfis Vw;Wf;nfhs;fpwJ vd;W mh;j;jk; ,y;iy” vd;W ntspg;gLj;jpdhh;. 
gpd;tUtdtw;wpy; vJ rpwg;ghf gj;jpapy; Fwpg;gplg;gl;Ls;sJ? 
a. ,e;jpa kjr;rhh;gpd;ik vd;gJ xU kj kjr;rhh;gw;w my;yJ kjj;jpw;F vjpuhdJ 
b. ,e;jpa kjr;rhh;gpd;ik kjthjj;Jld; KOikahf xj;Jg;NghfpwJ 
c. ,e;jpa kjr;rhh;gpd;ik nghJ ntspapy; kjj;jpd; Kf;fpaj;Jtj;ij mq;fPfhpf;ftpy;iy 
d. ,e;jpa kjr;rhh;gpd;ik vd;gJ xt;nthU kjj;ijAk; rkkhff; fUj Ntz;ba mtrpakpy;iy 
e. tpil njhpatpy;iy 
 

38. Which of the following statement(s) correct about Madras Native Association? 
i. The first political organization started in India 
ii. The Madras Native Association began to function on 1852 
iii. The founder of the Madras Native Association was G. Lakshminarasu Chetty 
iv. The leader of the Madras Native Association was Anandha Charlu  
a. iii only   b. i and ii only  c. ii and iii only 

d. ii and iv only  e. Answer not known 
fPo;f;fz;l thf;fpaq;fspy; nkl;uh]; Nel;bt; mNrhrpNa~d; gw;wpa rhpahd thf;fpaq;fisj; 
Njh;e;njLf;fTk;. 
i. ,e;jpahtpy; Muk;gpf;fg;gl;l KjyhtJ murpay; rhh;e;j mikg;G  
ii. ,J 1852k; Mz;L Kjy; nray;gl njhlq;fpaJ 
iii. nkl;uh]; Nel;bt; mNrhrpNa~dpd; epWtdh; [p.y~;kpeuR n~l;b 
iv. nkl;uh]; Nel;bt; mNrhrpNa~dpd; jiyth; mde;jhr; rhh;Y 
a. (iii) kl;Lk;     b. (i) kw;Wk; (ii) kl;Lk;  
c. (ii) kw;Wk; (iii) kl;Lk;   d. (ii) kw;Wk; (iv) kl;Lk; 
e. tpil njhpatpy;iy 
 

39. The tropical cyclone winds blow into the Northern Hemisphere in _____ direction. 
a. Clockwise   b. Straight  c. Anticlockwise 

d. Circular   e. Answer not known 
tlf;F miuf;Nfhsj;jpy; Vw;gLk; tspkz;ly NkyLf;F Row;r;rp ve;j jpirapy; fhw;W RoYk; 
a. fbfhur; Rw;W  b. Neuhf  c. vjph;fbfhur; Rw;W 
d. tl;lkhf   e. tpil njhpatpy;iy  
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40. In which annual sessions of the Indian National Congress made the historic ‘Purna Swaraj’ 
declaration? 
a. 1907 Surat   b. 1920 Nagpur  c. 1929 Lahore 

d. 1940 Karachi  e. Answer not known 
,e;jpa Njrpa fhq;fpu]; ve;j Mz;L mkh;tpy; tuyhw;W rpwg;Gkpf;f ‘G+h;z Rauh[;’ mwpf;ifia 
ntspapl;lJ 
a. 1907 #uj;   b. 1920 ehf;G+h;  c. 1929 yh$h; 
d. 1940 fuhr;rp  e. tpil njhpatpy;iy 

 
41. Who was selected as the President of Council of Action, which was constituted by Tamil Nadu 

Congress Committee to execute the Civil Disobedience in 1930? 
a. C. Rajagopalachari   b. S. Sathyamurthi 
c. T.S.S. Rajan    d. T. Prakasam 
e. Answer not known 
1930Mk; Mz;L jkpo;ehL fhq;fpu]; fkpl;bahy; rl;lkWg;G ,af;fj;jpid elj;j nraw;Foj; 
jiytuhfj; Njh;e;njLf;fg;gl;lth; ahh;? 
a. C. ,uh[Nfhghyhr;rhhpahh;  b. S. rj;jpa%h;j;jp 
c. T.S.S. ,uh[d;    d. T. gpufhrk; 
e. tpil njhpatpy;iy 
 

42. Assignment of ecological or biological significance of a contaminant’s effect based primarily on 
statements of statistical significance but contrary to biological probability 
a. Malthusian theory    b. Median effective concentration 
c. Maulstick incongruity    d. Maximum likelihood estimation 
e. Answer not known 
caphpay; epfo;jfTf;F khwhf> Kjd;ikahf Gs;sptptu Kf;fpaj;Jtj;jpd; mwpf;iffis 
mbg;gilahff; nfhz;l xU khRghl;bd; tpistpd; Rw;Wr;#oy; my;yJ caphpay; 
Kf;fpaj;Jtj;ij xJf;Fjy; 
a. khy;J}rpad; Nfhl;ghL    b. ruhrhp gaDs;s nrwpT 
c. khy;];bf; nghUj;jkpd;ik   d. mjpfgl;r rhj;jpaf;$W kjpg;gPL 
e. tpil njhpatpy;iy 
 

43. Which of the following statements is true about human races? 
i. The races is a group of people with more or less permanent distinguishing characteristics 
ii. Human races are classified in 7 blood groups 
iii. The races are identified and classified based on skin colour, stature, shape of head, face, 

nose, eye, type of hair and blood group 
a. i and iii only   b. i and ii only  c. i only 

d. ii and iii only   e. answer not known 
gpd;tUk; $w;Wfspy; vit kdpj ,dq;fisg; gw;wpa rhpahd $w;Wfs;? 
i. ,dq;fs; vd;gJ mjpfkhfNth my;yJ FiwthfNth epue;ju jdpj;Jtkhd gz;Gfisf; 

nfhz;l xU FothFk;. 
ii. kdpj ,dq;fs; 7 ,uj;j tiffshf gphpf;fg;gl;Ls;sd 
iii. Njhypd; epwk;> cauk;> jiyapd; tbtk;> Kfk;> %f;F> fz;> Kb tif kw;Wk; ,uj;j 

tif Mfpatw;wpd; mbg;gilapy; ,dq;fs; milahsk; fhzg;gl;L 
tifg;gLj;jg;gLfpd;wd. 

a. i kw;Wk; iii kl;Lk;  b. i kw;Wk; ii kl;Lk; 
c. i kl;Lk;    d. ii kw;Wk; iii kl;Lk; 
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e. tpil njhpatpy;iy 
 

44. Arrange in chronological order 
1. Nehru Report   2. Poona Pact   
3. Simon Commission  4. Cripps Mission 
a. 1, 2, 3, 4  b. 3, 2, 4, 1    c. 3, 1, 2, 4 

d. 2, 1, 4, 3  e. Answer not known 
 
fhythpirg;gLj;Jf 
1. NeU mwpf;if   2. g+dh xg;ge;jk; 
3. irkd; FO   4. fphpg;]; FO 
a. 1, 2, 3, 4  b. 3, 2, 4, 1    c. 3, 1, 2, 4 
d. 2, 1, 4, 3  e. tpil njhpatpy;iy 
 

45. Which one of the following is not correctly matched? 
a. Arif Qandhari   - Tariki-i-Akbari 
b. Nizamuddhin Ahmad  - Tabaqat-i-Akhari 
c. Abdul Qadir Badaoni  - Muntakhab-ut-Tawarikh 
d. Muhammad Khan  - Khulasat Tawarikh 
e. Answer not known 
fPo;tUtdtw;Ws; vit jtwhf ,izf;fg;gl;Ls;sd? 
a. Mhpg; Fe;jhhp   - jhhpf;-,-mf;ghp 
b. epfhKjPd; mfkJ  - jgfj;-,-mf;ghp 
c. mg;Jy; fhjh; gnjsdp - Ke;jfg;-cl;-jthhpf; 
d. KfkJ fhd;   - Fyhrj; jthhpf; 
e. tpil njhpatpy;iy 

 
46. The Stupa at Amaravati is a best example of what? 

a. Nagara style of architecture   b. Vesara style of architecture 
c. Mughal Architecture    d. Dravidian architecture 
e. Answer not known 
mkuhtjpapYs;s ];J}gp vjw;Fr; rpwe;j vLj;Jf;fhl;L? 
a. efug;ghzpf; fl;blf;fiy   b. Ntrug;ghzpf; fl;blf;fiy 
c. Kfyhaf; fl;blf;fiy    d. jpuhtplf; fl;blf;fiy 
e. tpil njhpatpy;iy 
 

47. Choose the right matches among the type 
1. Vedantins   - Brahma 
2. Naiyayikas   - Arhat 
3. Jaina    - Creater 
4. Mimansaks   - Karma 
a. 1 and 4 are correct   b. 1 and 2 are correct 
c. 2 and 3 are correct   d. 3 and 4 are correct 
e. answer not known 
nfhLf;fg;gl;ldtw;Ws; rhpahd nghUj;jq;fisj; Njh;e;njLf;fTk; 
1. Ntjhe;jpfs;   - gpuk;kh 
2. ieahapfs;   - mh;`j; 
3. i[dh;    - gilg;ghsh; 
4. kpkhk;rfh;    - fh;kh 
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a. 1 kw;Wk; 4 rhpahdit  b. 1 kw;Wk; 2 rhpahdit 
c. 2 kw;Wk; 3 rhpahdit  d. 3 kw;Wk; 4 rhpahdit 
e. tpil njhpatpy;iy 
 

48. Consider the following statement and find the incorrect answer: 
1. The constitution imposes limits to President to give assent to the bill passed by the state 

legislature 
2. The President may refer a reserved bill to the Supreme Court, under Article 143 for 

discussion. 
3. The power of the President assent to the bill passed by the State Legislature and Parliament 

are the same 
4. The President cannot kepp a bill of the Parliament pending at his hands for an indefinite 

period of time 
a. 1 and 4 only incorrect  b. 1 and 3 only incorrect 

c. 2 and 3 only incorrect  d. 3 and 4 only incorrect 
e. Answer not known 
fPo;f;fz;l $w;Wf;fisf; fUjTk; jtwhd $w;Wfisf; fz;lwpaTk; 
1. rl;lkd;wk; ,aw;wpa kNrhjhTf;Fk; FbauR jiyth; jd;Dila ,iritj; ju 

murpayikg;Gr; rl;lk; Xh; vy;iyia typAWj;jpAs;sJ 
2. rl;l cWg;G 143d; fPo; FbauR jiyth; epWj;jp itj;jpUf;Fk; kNrhjh gw;wp 

cr;rePjpkd;wj;jplk; MNyhrpf;fyhk; 
3. ghuhSkd;wk; kw;Wk; rl;l kd;wq;fs; ,aw;wpa kNrhjhf;fs; kPJ FbauR jiyth; xNu 

khjphpahd mjpfhuj;ij nfhz;bUf;fpwhh; 
4. ghuhSkd;wk; ,aw;wpa kNrhjh kPJ FbauR jiyth;> fhy tiuaiwapd;wp xg;Gjy; juhky; 

itj;jpUf;f KbahJ 
a. 1 kw;Wk; 4 kl;Lk; jtW  b. 1 kw;Wk; 3 kl;Lk; jtW 
c. 2 kw;Wk; 3 kl;Lk; jtW  d. 3 kw;Wk; 4 kl;Lk; jtW 
e. tpil njhpatpy;iy 
 

49. Which of the following statement is/are correct? 
1. The universal declaration of human rights was adopted on 1948 
2. Article 10 says that all human beings are born free 
3. UDHR has altogether 32 articles. 
4. UDHR was adopted by United Nations General Assembly 
a. 1, 2, 3 and 4  b. 1, 2 and 3  c. 1 and 4 

d. 1, 2 and 4  e. answer not known 
fPNo nfhLf;fg;gl;Ls;s vJ / vit rhpahdJ? 
1. gd;dhl;L kdpj chpikfs; gpufldg;gLj;jg;gl;l Mz;L 1948 
2. tpjp 10d; gb kdpjh;fs; midtUk; Rje;jpukhfg; gpwe;jth;fs; 
3. gd;dhl;L kdpj chpikfs; gpufldk; nkhj;jk; 32 tpjpfisf; nfhz;lJ 
4. If;fpa ehLfspd; nghJr;rig gd;dhl;L kdpj chpikfs; gpufldj;ij Vw;Wf;nfhz;lJ 
a. 1> 2> 3 kw;Wk; 4 b. 1> 2 kw;Wk; 3   c. 1 kw;wk; 4 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 
 

50. Which of the following is incorrectly matched? 
1. Article 361 - The President enjoys protection from criminal proceedings  

  against him in court of law 
2. Article 352 - National emergency 
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3. Article 356 - President Rule in State 
4. Article 360 - Finance commission 
a. 1 only   b. 3 only    c. 1, 2 and 3 only 
d. 4 only   e. Answer not known 
fPo;tUtdtw;Ws; vJ jtwhf nghUj;jg;gl;Ls;sJ? 
1. ~uj;J 361 - ePjpkd;wj;jpy; FbauRj; jiytUf;F vjpuhd Fw;wtpay; eltbf;iffspy; 

,Ue;J ghJfhg;igg; ngWfpwhh; 
2. ~uj;J 352 - Njrpa neUf;fbfhy gpufldk; 
3. ~uj;J 356 - khepyj;jpy; FbauRj;jiyth; Ml;rp 
4. ~uj;J 360 - epjp Mizak; 
a. 1 kl;Lk;   b. 3 kl;Lk;    c. 1> 2 kw;Wk; 3 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

51. Match the following constitutional articles related to Chief Minister of a State: 
  Subject Matter        Article No 

A. Council of Ministers to aid and advice the Governor  1. 164  
B. Other provisions as to Ministers     2. 166 
C. Conduct of business of the   Government of a state   3. 167 
D. Duties of Chief Minister with Respect to furnishing      

of information to Governor etc.     4. 163 
  A B C D 

a.  1 3 2 4 
b. 2 4 1 3 
c. 3 2 1 4 
d. 4 1 2 3 
e.  Answer not known  

 khepy Kjyikr;rh; njhlh;ghd fPo;f;fhZk; murikg;G tpjpfisg; nghUj;Jf. 
  nghUs;      murikg;G tpjp vz; 

A. MSeUf;F cjtp kw;Wk; 
  MNyhrid $Wk; mikr;rh; FO   1. 164  
B. mikr;rh;fs; njhlh;ghd gpw mk;rq;fs;   2. 166 
C. khepy murhq;fj;jpd; mYtiy elj;Jjy;  3. 167 
D. khepy MSeUf;Fj; jfty; njhptpj;jy; 
  cs;spl;l Kjyikr;rhpd; gzpfs;   4. 163 

 
A B C D 

a.  1 3 2 4 
b. 2 4 1 3 
c. 3 2 1 4 
d. 4 1 2 3 
e.  tpil njhpatpy;iy 
 

52. Consider the statement of the Judicial power of the Governors of the States. 
Choose the correct answer from the option given below: 
Assertion (A) : The power of granting pardon under article 161 is very wide and do not 
    contain any limitation. 
Reason (R): Judicial review is possible, when he/she on the ground of non –  

application of mind and non – consideration of relevant material and    
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   suffers from arbitrariness. 
a. (A) is true (R) is false 
b. (R) is true (A) is false 
c. Both (A) and (R) are true: but (R)is not correct explanation of (A) 
d. Both (A) and (R) are true:  (R)is the correct explanation of (A) 
e. Answer not known 

khepy MSehpd; “ePjpkd;w mjpfhuk;” Fwpj;Jf; fPo;f;fz;l $w;iwf; fUJf. 
tpUg;gj; njhptpy; ,Ue;J rhpahd tpiliaj; Njh;e;njLf;fTk;. 
JzpG(A): kd;dpg;G mspf;Fk; mjpfhuk;> 161 tJ rl;l cWg;gpd; fPo; kpfTk; tphpthdJ. mJ 

ve;j vy;iyiaAk; nfhz;bUf;ftpy;iy. 
fhuzk; (R): mtNsh/ mtNuh mwpit ed;F nrYj;jp Muhahj nghOJk;> chpa ek;gfkhd 

Mtzq;fisg; ghprPypf;fhj nghOJk; mj;JkPWk; czh;Tf;F 
Ml;gl;bUf;Fk; nghJ ePjpg;Gduha;T vd;gJ rhj;jpakhdjhFk;. 

a. (A) rhp (R) jtW 
b. (R) rhp (A) jtW 
c. (A) Tk; (R)Tk; rhp Mdhy; (R)vd;gJ (A) Tf;Fr; rhpahd tpsf;fkhfhJ 
d. (A) kw;Wk; (R) ,uz;Lk; rhp. (R) vd;gJ (A) f;Fr; rhpahd tpsf;fkhFk;. 
e. tpil njhpatpy;iy 
 

53. Quantum nature of light is not supported by the phenomenon of  
a.  Compton effect      b. Photoelectric effect 
c. Emission and Absorption Spectrum  d. Interference of light waves 

e.  Answer not known 
Xspapd; Fthz;lk; nfhs;if fPo;f;fhz;gtw;Ws; vj;jifa tpisit tpsf;fhJ? 
a. fhk;ld; tpisT      b.  xspkpd; tpisT 
c. ckpo;T epwkhiy kw;Wk; cl;fth; epwkhiy 
d. xsp miyfspd; FWf;fPl;L tpisT 
e. tpil njhpatpy;iy 
 

54. LPG is a mixture of  
a. C6 H12 + C 6H6   b. C 4H 10+C 3H 8   c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4   e. Answer not known 
LPG (rikay; vhpthA) vd;gJ _______________ fyitahFk;. 
a. C6 H12 + C 6H6   b. C 4H 10+C 3H 8   c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4   e. tpil njhpatpy;iy 
 

55. Match the List I with List II 
List I    List II 

(Hydrated Salt)   (Uses) 
a. FeSO4 .  7H 2O   1. Textile Industry 
b. Na 2CO 3 . 10 H 2O  2. Laboratory Reagent 
c. CuSO 4 . 5H 2O   3. Making of Mohr’s Salt 
d. ZnSO 4 . 7H 2O   4. Fungicide 
e. BaCl2 . 2H 2O   5. Manufacture of Glass 

A B C D E 
 a.  5 3 4 1 2 
 b. 4 5 3 1 2 

c. 3 5 4 1 2 
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 d. 5 3 1 3 2 
 e.  Answer not known 

gl;bay; I ia gl;bay; II cld; nghUj;Jf. 
 gl;bay; I   gl;bay; II 
    (ePNuwpa cg;G)        (gad;fs;) 
a.   FeSO4 .  7H 2O  1. [Tspj; njhopy; 
b.   Na 2CO 3 . 10 H 2O 2.  Ma;tff; fhuzp 
c.   CuSO 4 . 5H 2O  3.  Nkhh;]; cg;Gj; jahhpj;jy;  
d.   ZnSO 4 . 7H 2O  4.  G+Q;irf; nfhy;yp 
e.   BaCl2 . 2H 2O  5.  fz;zhb jahhpj;jy 

A B C D E 
 a.  5 3 4 1 2 
 b. 4 5 3 1 2 
 c. 3 5 4 1 2 
 d. 5 3 1 3 2 
 e.  tpil njhpatpy;iy 
 
56. Match the organism correctly with their corresponding order: 

a. Apis  1.  Haplotaxid 
b. Leech  2. Cyclophyllidea 
c. Earthworm 3. Hirudinea 
d. Taenia  4. Hymenoptera 

A B C D 
 a. 1 2 3 4 
 b. 2 4 3 1 
 c. 3 2 4 1 

d. 4 3 1 2 
 e.  Answer not known 
 caphpdj;ij mtw;wpd; njhlh;Gila thpirAld; rhpahfg; nghUj;jTk; 
 a. NjdP  1. `hg;Nyhlhf;irbah 
 b. ml;il  2. irf;Nsh/gpy;ypbah 
 c. kz;GO  3. `pUbdpah 
 d. ehlhGO  4. i`kNdhg;nluh 

A B C D 
 a. 1 2 3 4 
 b. 2 4 3 1 
 c. 3 2 4 1 
 d. 4 3 1 2 
 e.  tpil njhpatpy;iy 
 
57. Operation London Bridge is the  

a. Funeral Plan for Queen Elizabeth II 
b. Process of selecting the Prime Minister of UK 
c. Joint Military exercises of NATO countries 
d. Evacuations due to Russia – Ukraine War 
e. Answer not known 
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yz;ld; ghyk; eltbf;if vd;gJ 
a. kfhuhzp ,uz;lhk; vyprngj;jpd; ,Wjp Ch;ty epfo;Tfs; 
b. UK gpujk ke;jphpia Njh;e;njLg;gjw;fhd nray;Kiw 
c. NATO ehLfspd; $l;L ,uhZt gapw;rp 
d. u~;a – cf;iud; Nghhpd; NghJ ntspNaw;wy; 
e. tpil njhpatpy;iy. 
 

58. Which of the following is / are true about Doppler effect? 
1. Doppler effect in light in symmetric 
2. Doppler effect in sound is symmetric 
3. Doppler effect in light is asymmetric 
4. Doppler effect in sound is asymmetric 
a. 1 and 2 are correct  b. 1 and 4 are correct 

c. 3 and 4 are correct  d. 2 and 3 are correct 
e. Answer not known 
lhg;sh; tpisitg; nghUj;J fPo;f;fhZk; $w;WfSs; vit rhpahdit? 
1. xspapy; lhg;sh; tpisT rkr;ruhdJ 
2. xypay; lhg;sh; tpisT rkr;rPuhdJ 
3. xspapy; lhg;sh; tpisT rkr;rPuhdJ 
4. xypapy; lhg;sh; tpisT rkr;rPuw;wJ 
a. 1 kw;Wk; 2 rhpahdit  b. 1 kw;Wk; 4 rhpahdit 
c. 3 kw;Wk; 4 rhpahdit  d. 2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy 
 

59. The government has initiated the following key aspects for facilitating the MSME sector: 
i. Access to credit   ii. Access to market 
iii. Technology upgradation iv. Social security for MSME sector employers 
Select the correct option. 
a. i and ii only   b. i, ii and iii only   c. ii and iv only 
d. i,ii, iii and iv   e. Answer not known 
MSME d; Jiwia vspjhf;Ftjw;F murhq;fk; gpd;tUk; Kf;fpa mk;rq;fisj; njhlq;fpAs;sJ. 
i. fld; mZfy;   ii. re;ij mZfy; 
iii. njhopy; El;g Nkk;gLj;Jjy; 
iv. MSME ,d; Jiw Copah;fSf;fhd r%fg; ghJfhg;G 
FwpaPLfisg; gad;gLj;jp rhpahd tpilapidf; fhz;f. 
a. i kw;Wk; ii kl;Lk;  b. i, ii kw;Wk; (iii) kl;Lk;  c.  ii kw;Wk; iv kl;Lk;  
d. i, ii> iii kw;Wk; iv e. tpilnjhpatpy;iy. 
 

60. Match the following and select the correct answer. 
A. Nayak Committee   1. Unorganised sector 
B. Tarapore Committee  2. Centre state relations 
C. Rajamannar Committee  3. Availability of Credit to SSI 
D. Arjun Sen Gupta Committee 4. Capital account Convertibility 

A B C D 
 a. 4 3 2 1 

b. 1 2 4 3 
c. 3 4 2 1 
d. 3 2 1 4 



 

19 | Page  Ph: 044-24339436, 42867555, 9840226187 
 

e.  Answer not known 
fPo;tUgdtw;iw nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. ehaf; FO    1. mikg;G rhuh Jiw 
B. jhuhG+h; FO   2. kj;jpa – khepy njhlh;G 
C. ,uh[kd;dhh; FO   3. rpwpa msT njhopw;rhiyfSf;F fld; fpilg;gJ 
D. mh;[{d; nrd; Fg;jh FO 4. %yjd fzf;F khw;Wj; jpwd;  

A B C D 
 a. 4 3 2 1 

b. 1 2 4 3 
c. 3 4 2 1 
d. 3 2 1 4 
e.  tpilnjhpatpy;iy. 

 
61. Which one of the statements is correct for Li-ion batteries? 

a. While the battery is discharging, the anode releases lithium ion to the cathode 
b. While the battery is discharging, the cathode releases lithium ion to the anode. 
c. While the battery is charging, the anode releases lithium ion to the cathode 
d. While the battery is charging the cathode doesn’t releases lithium ion to the anode 
e. Answer not known 
Li – madp Ngl;lhpfSf;F/kpd;fyd;fSf;F gpd;tUk; $w;Wfspy; vJ rhpahdJ? 
a. Ngl;lhp kpd;dpwf;fk; milAk;NghJ Li madpfs; MNdhbypUe;J Nfj;NjhLf;F  

ntspaplg;gLfpwJ. 
b. Ngl;lhp kpd;dpwf;fk; milAk;NghJ Li- madpfs; Nfj;NjhbypUe;J MNdhbw;F  

ntspaplg;gLfpwJ. 
c. Ngl;lhp kpd;Ndw;wk; milAk;nghJ> Li– madpfs; mNdhbypUe;J Nfj;NjhLf;F 

ntspaplg;gLfpwJ. 
d. Ngl;lhp kpd;Ndw;wk; milAk;NghJ> Li- madpfs; Nfj;NjhbypUe;J MNdhbw;F  

ntspaplg;gLtjpy;iy. 
e. tpil njhpatpy;iy. 
 

62. The Beneficiaries of Moovalur Ramamirtham scheme are 
a. All primary school students 
b. Girls Students who are studying from 1st to 5th Std. 
c. Girls students who are studying from 6th to 12th in government schools 
d. Girls students of first generation in schools alone 
e. Answer not known 
%tY}h; ,uhkhkpUjk; mk;ikahh; fy;tp cjtpj;njhif ngwj; jFjpahd gadhspfs; 

 a. midj;J Muk;gg;gs;sp khzth;fs; 
 b. 1 Kjy; 5 k; tFg;Gtiu gapYk; khztpah; 

c. 6 Kjy; 12 k; tFg;G tiu jkpof muRg; gs;spfspy; gapd;w ,sk;gl;l tFg;G tiu gapYk; 
khztpah; 

 d. gs;spf;fy;tp gapYk; Kjy; jiyKiw khztpah; kl;Lk; 
 e. tpil njhpatpy;iy. 
 
  



 

20 | Page  Ph: 044-24339436, 42867555, 9840226187 
 

63. Which among the following statements is / are best explaining the objective of “Ennum 
Ezhuthum Scheme?” 
I. The scheme is launched to help the children make up the loss of learning due to corono 

pandemic. 
II. The scheme is launched with the purpose of education for all. 
III. The scheme is launched with noble objective of fastening equality in society. 
IV. The scheme is launched with the aim that all children below 8 years of age should be 

able to read. Write and know numerals by 2025. 
a. I only   b. I, II and III only  c. II and IV only 
d. I and IV only  e. Answer not known 
“vz;Zk; vOj;Jk;” jpl;lj;jpd; Nehf;fq;fis gpd;tUk; $w;Wfspy; vJ rpwg;ghf tpsf;FfpwJ? 
I. nfhNuhdh ngUe;njhw;W fhyj;jpy; Vw;gl;l fw;wy; FiwghLfis rhpnra;a 

Foe;ijfSf;F cjTk; tz;zk; ,j;jpl;lk; njhlq;fg;gl;lJ. 
II. midtUf;Fk; fy;tp vd;w Nehf;fj;Jld; ,j;jpl;lk; njhlq;fg;gl;lJ. 
III. rkj;Jt r%fj;ij tsh;f;Fk; cahpa Nehf;fpy; ,j;jpl;lk; njhlq;fg;gl;lJ. 
IV. 2025 Mk; Mz;bw;Fs; 8 taJf;Fl;gl;l midj;J Foe;ijfSk; vOj gbf;f kw;Wk; 

vz;fis mwpe;jth;fshf khw;WtJ vd;w Nehf;fj;Jld; ,j;jpl;lk; njhlq;fg;gl;lJ.  
 a. I kl;Lk;    b. I,II kw;Wk; III kl;Lk;  c. II kw;Wk; IV kl;Lk;  

d.  I kw;Wk; IV kl;Lk;  e. tpil njhpatpy;iy 
 
64. Match the following: 

Health Programmes   Aims/Goals 
 A. Tamil Nadu Health System  1. To provide modern and  
     Reform Program    sophisticated health care facility for poor 
 B. Tamil Nadu Health System  2.  To improve the health outcomes 
       Project     of urban poor 

C.   Chief Minister’s    3. To improve the health of lower  
Comprehensive Health   Socio – economic groups 
Insurance Scheme  

 D.  Tamil Nadu Urban Health  4.  To achieve SDG – 3 
       Care Project.   
  A B C D 

a. 4 3 1 2 
 b. 2 4 1 3 
 c. 4 1 2 3 
 d. 3 2 4 1 
 e.  Answer not known   
 fPo;f;fhz;gtw;iwg; nghUj;Jf: 
 
  Rfhjhuj; jpl;lq;fs;    Fwpf;Nfhs;fs; 
 
 A. jkpo;ehL Rfhjhu mikg;G  1.  etPd kw;Wk; cah;ju Rfhjhu 
    kWfl;likg;Gj; jpl;lk;    trjpfis ViofSf;F mspf;f 
 B. jkpo;ehL Rfhjhu mikg;Gj;  2. efu Viofspd; MNuhf;fpaj;ij  
    jpl;lk;      cah;j;j 
 C. Kjyikr;rhpd; tphpthd fhg;gPl;Lj; 3. r%f – nghUshjhu mLf;fpy;      

jpl;lk;       fPNo cs;sth;fspd; MNuhf;fpaj;ij cah;j;j  
 D. jkpo;ehL efu Rfhjhuj; jpl;lk;  4.  SDG 3 – I mila 
  A B C D 
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 a. 4 3 1 2 
 b. 2 4 1 3 
 c. 4 1 2 3 
 d. 3 2 4 1 
 e.  tpil njhpatpy;iy  
  
65. Assertion (A) : Indian Government has taken up economic programmes  for benefit of SCs 

    and STs. 
Reason    (R) : Provided small loans for the poorer section to help them to earn money 
    through some secondary sources such as toy – making, basket making, 
    agarbatti and beedi – rolling, tailoring, shoe – making etc. 

 a. A is True but R is false 
b. Both A and R are true, and R is the correct explanation of A  

 c. A is false R is true 
 d. Both A and R are true, but R is not the correct explanation of A 
 e. Answer not known 
 $w;W A :,e;jpa murhq;fk; nghUshjhuk; rhh;e;j jpl;lq;fisj; jho;j;jg;gl;l  

 kw;Wk; kiytho; ,d kf;fs; gad;ngWk; tifapy; nray;gLj;JfpwJ. 
fhuzk; R : nghk;ik nra;jy;> $il Kiljy;> mfh;gj;jp kw;Wk; gPb Rw;Wjy;>  

Jzpj; ijayfk;> fhyzp jahhpj;jy; Nghd;w rpW njhopy;fSf;Ff; fld; 
nfhLg;gjd; %yk; Vio kf;fs; Jiz tUkhdk; ngw muR cjtp nra;fpwJ. 

 a.  $w;W A rhp Mdhy; fhuzk; R jtW 
 b.  $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp fhuzk; R $w;W A f;fhd rhpahd  

tpsf;fkhFk;.  
 c.  $w;W A jtW fhuzk; R rhp 
 d.  $w;W A kw;Wk; fhuzk; R ,uz;Lk; rhp fhuzk; R $w;W Af;fhd rhpahd  

tpsf;fky;y. 
e. tpil njhpatpy;iy. 

 
66. Choose the correct matches 

1.Art 371  - Provision with respect to the states of Maharashtra and Gujarat 
2.Art 371 A  - Provision with respect to the state of Nagaland 
3.Art 371 D  - Provision with respect to the state of Andhra Pradesh 
4.Art 371 H  - Provision with respect to the state of Tamil Nadu 
a. 2 and 4 are correct    b. 2,3 and 4 are correct 
c. 1 and 4 are correct    d. 1,2 and 3 are correct 
e. Answer not known 
rl;lk; njhlh;ghd rhpahd nghUj;jq;fis Njh;T nra;aTk;. 
1. tpjp 371  - k`huh~;buk; kw;Wk; F[uhj; khepyq;fs; njhlh;ghdJ 
2. tpjp 371 A - ehfhye;J khepyk; njhlh;ghdJ 
3. tpjp 371 D -  Me;jpugpuNjr khepyk; njhlh;ghdJ 

4. tpjp 371 H - jkpo;ehL khepyk; njhlh;ghdJ 
a. 2 kw;Wk; 4 rhpahdit    b. 2>3 kw;Wk; 4 rhpahdit 
c. 1 kw;Wk; 4 rhpahdit    d. 1> 2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy.  
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67. The objectives of the District Mental Health Programme are 
1. To provide mental health services including prevention, promotion and long term  

care at District health care delivery system 
2. To augment institutional capacity in terms of infrastructure, equipment and  

Human resource for mental health care 
3. Facilitating the mental health services at doorstep 
4. To promote community awareness and participation in the delivery of mental health 

services. 
a. 1,2,3 only   b. 2, 3,4 only    c. 1,2,4 only 

d. 1,3, 4 only   e. Answer not known 
 khtl;l kdeyj; jpl;lj;jpd; Fwpf;Nfhs;fshtd 

1. khtl;l Rfhjhug; ghJfhg;G tpepNahf mikg;gpy; jLg;G> gjtp cah;T kw;Wk; ePz;l 
fhy guhkhpg;G cs;spl;l kdeyr; Nritfis toq;Fjy; 

2. kdeyg; ghJfhg;Gf;fhd cs;fl;likg;G cgfuzq;fs; kw;Wk; kdpj tsk; Mfpatw;wpd; 
mbg;gilapy; epWtd jpwid mjpfhpj;jy; 

3. tPLNjhWk; kdey Nritfis vspjhf;Fjy; 
4. r%f tpopg;Gzh;it Cf;Ftpj;jy; kw;Wk; kdey Rfhjhu Nritfis toq;Ftjpy; gq;Nfw;wy;  
a.  1> 2> 3 kl;Lk;  b.  2> 3> 4 kl;Lk;   c.  1> 2> 4 kl;Lk;  
d.  1> 3> 4 kl;Lk;  e. tpil njhpatpy;iy. 
 

68. Which chapter in Thirukkural reflects the Northern Scholar’s ideology of philosophical 
knowledge? 
a. Not Killing    b. Instability   c. Renunciation 
d. Understanding the truth  e. Answer not known 
tlE}yhhpd; ‘jj;JtQhdk;’ vd;Dk; fUj;ij Kd;dpWj;Jk; jpUf;Fwspd; mjpfhuj;ijf; fz;lwpf. 
a. nfhy;yhik   b. epiyahik   c. JwT  
d. nka; czh;jy;   e. tpil njhpatpy;iy. 
 

69. Which of the following titles are related with Pandyas? 
i) Minavar  ii) Villavar  iii) Kudavar iv)  Panchavar  
a. i  only  b. ii only   c. i  and iv only  
d. ii and iii only  e. Answer not known 

 gpd;tUk; gl;lq;fspy; ghz;ba kd;dh;fSld; njhlh;GilaJ vJ? 
i)  kPdth;   ii)  tpy;yth;  iii) Flth;  iv)  gQ;rth;  
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; iv kl;Lk; 
d. ii kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy. 
 

70. Which of these actions cannot lead to Truth – Consciousness? 
a. Porul Allavatrai Porul Endru Unarthal 
b. Saarbu Unarndhu Saarbu Keda Ozhugal 
c. Aiyathin Neengi Thelithal 
d. Sirappu enum semporul Kaanpadhu 
e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ nka;Azh;jYf;fhd nray;ghL ,y;iy? 
a. nghUs; my;ytw;iwg; nghUs; vd;W czh;jy; 
b. rhh;G czh;e;J rhh;G nfl xOFjy; 
c. Iaj;jpd; ePq;fpj; njspjy;  
d. rpwg;G vd;Dk; nrk;nghUs; fhz;gJ 
e. tpil njhpatpy;iy 
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71. “Vendharkku Oli” – What is the meaning propounded in this Thirukkural? 

i. Kodai ( Donation)  ii. Ali ( Kindness)  
iii. Protective Sceptre ( Sengol Kudiyombal) 
a. i only    b. i,iii only    c. i,ii only 
d. i,ii and iii    e. Answer not known 
“Nte;jh;;f;F xspahtJ” vd;W jpUf;Fws; vjidf; $Wfpd;wJ? 

 i. nfhil  ii. msp  iii. nrq;Nfhy; FbNahk;gy; 
 a. i kl;Lk;    b. i, iii kl;Lk;    c. i,ii kl;Lk; 
 d. i,ii kw;Wk; iii   e. tpil njhpatpy;iy 
 
72. Match correctly the Excavated information with the Excavation sites: 

A. Thanjavur excavation  1. Roman Pottery 
B. Kilaiyur  excavation  2.  Centre of Buddhism 
C. Tirukkampuliyur excavation 3.  Commercial contact between Rome and Tamilagam 

 D. Uraiyur excavation  4. Culture of Kaveris 
  A B C D 
 a.  1 2 4 3 
 b. 3 4 2 1 

c. 4 3 1 2 
 d. 2 3 1 4 
 e.  Answer not known 

mfo;T (njhy;nghUs;) Muha;r;rpapd; ,lk; kw;Wk; mit jUk; jfty;fNshL rhpahdtw;iwg; 
nghUj;Jf. 
A. jQ;rhT+h; mfo;thuha;r;rp   1. Nuhkhdpa kl;ghz;lq;fs; 
B. fPioA+h; mfo;thuha;r;rp  2. Gj;j kj ikak; 
C. jpUf;fk;GypA+h; mfo;thuha;r;rp 3. NuhkhdpaUf;Fk; jkpoh;fSf;Fk; 
      ,ilNa cs;s tzpf njhlh;G 
D. ciwA+h; mfo;thuha;r;rp  4. fhNthpapd; fyhr;rhuk; 

A B C D 
 a.  1 2 4 3 
 b. 3 4 2 1 
 c. 4 3 1 2 
 d. 2 3 1 4 

e.  tpil njhpatpy;iy 
 

73. Who speaks the following lines in Barathiyar’s “Panchali Sabadham “? “ Tharumathin 
Vazhvudhanai Soodhu kavvum” 
Tharumam Marubadi Vellum”. 
a. Panchali   b. Kannan    c. Arjunan   
d. Tharuman   e. Answer not known 
“jUkj;jpd; tho;Tjidr; #J ft;Tk;” 
jUkk; kWgb nty;Yk;” 
- Ghujpahhpd; ghQ;rhyp rgjj;jpy; ,jidr; nrhy;gth; ahh;? 
a. ghQ;rhyp   b. fz;zd;    c. mh;r;Rdd; 
d. jUkd;    e. tpil njhpatpy;iy. 
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74. Choose the right answer: 
Which of the following statements are true about the Cholas? 
i) The first mentionof the cholas is in the Ashokan inscription 
ii. They were independent rulers in Tamilagam 
iii. Kanyakumari Inscription and Anbil Plates give information of the early Cholas 
a. i  is correct      b. i  and ii are correct 

c. i,ii and iii are correct    d. i and iii are correct 
e. Answer not known 
rhpahd tpiliaj; Njh;e;njLf;f; 
fPNo nfhLf;fg;gl;Ls;s thf;fpaj;jpy; Nrhoh;fs; gw;wpa rhpahd thf;fpaj;ijf; $Wf.  
i. mNrhf fy;ntl;by; Nrhoh;fs; gw;wp Kjy; Kiwahf Fwpg;gplg;gl;Ls;sJ. 
ii. jkpofj;jpy; Rje;jpu murhf mth;fs; tpsq;fpdh;. 
iii. fd;dpahFkhp fy;ntl;Lfs; kw;Wk; md;gpy; rhrdKk; Nrhoh;fs; gw;wpa jfty;fisf;  
   $WfpwJ.  
a. i kl;Lk; rhpahdJ     b. i kw;Wk; ii kl;Lk; rhpahdJ 
c. i,ii kw;Wk; iii rhpahdJ    d. i kw;Wk; iii rhpahdJ 
e. tpil njhpatpy;iy. 

75. Four pictures of a cube are given below which number is on the face opposite to 3? 

 
a.1  b. 2  c. 4  d. 5  e. Answer not known 
fd rJuj;jpd; ehd;F tiuglq;fs; fPNo nfhLf;fg;gl;Ls;sd. ve;j vz; 3 ,d;  vjph;gf;fkhf 
,Uf;f KbAk;. 

 
a.1  b. 2  c. 4  d. 5  e. tpil njhpatpy;iy. 
 

76. Find the area of an equilateral triangle whose perimeter is 180 cm. 
a. 1558.8 cm2   b. 1885.5 cm2   c. 1585.8 cm2 
d. 1888.5 cm2    e. Answer not known 
180 nr.kP. Rw;wsT nfhz;l xU rkgf;f Kf;Nfhzj;jpd; gug;G fhz;f 
a. 1558.8 cm2   b. 1885.5 cm2   c. 1585.8 cm2 
d. 1888.5 cm2    e. tpil njhpatpy;iy. 
 

77. The CI on Rs. 15,000 for 3 years if the rate of interests are 15 %, 20% and 25%, for the I, II and III 
year respectively is  
a. Rs. 10,875   b. Rs. 10,785   c. Rs. 10,885 
d. Rs. 10,775   e. Answer not known 
I, II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15 %, 20% kw;Wk; 25% vdpy; &.15>000 f;F 
3 Mz;Lf;F fpilf;Fk tl;b fhz;f. 
a. &. 10,875   b. &. 10,785   c. &. 10,885 
d. &. 10,775   e. tpil njhpatpy;iy. 
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78. If A :B= 2:3, B:C= 2:4, C:D = 2:5, then A:D is equal to  
a. 1:5    b.2:5     c. 3:5 
d. 2:15    e. Answer not known 
A :B= 2:3, B:C= 2:4, C:D = 2:5, vdpy;  A:D f;F rkkhd tpfpjk; 
a. 1:5    b.2:5     c. 3:5 
d.2:15    e. tpil njhpatpy;iy. 
 

79. The Lowest Common Multiple (LCM) of two numbers is 6 times of their Highest Common 
Factor (HCF).  If the HCF is 12 and one of the number is 36, then the other number is 
a. 48  b. 72  c. 24  d. 12  e. Answer not Known 
nfhLf;fg;gl;l ,U vz;fspd; kPr;rpW nghJ klq;fpd; kjpg;ghdJ> mt;tpU vz;fspd; kPg;ngU 
nghJf; fhuzpapd; kjpg;ig tpl 6 klq;F mjpfkhFk;. NkYk; mt;tpU vz;fspd; kPg;ngU nghJ 
fhuzpapd; kjpg;G 12 kw;Wk; mt;tpU vz;fspy; xU vz;zhdJ 36 vdpy;> kw;nwhU vz;zpd; 
kjpg;G  
a. 48  b. 72  c. 24  d. 12  e. tpil njhpatpy;iy. 
 

80. Which of the following statements about GST council is not true? 
1. The members of the GST council choose one amongst themselves to be the vice-chairperson 

of the council. 
2. Every decision of the GST council shall be taken by a meeting of not less than two-third of 

the weighted votes of the members present and voting. 
3. One-half of the total number of members of the GST council constitute the quorum at its 

meeting. 
a. 1 and 2   b. 2 and 3   c. 1 and 3 

d. 1, 2 and 3   e. Answer not known 
[pv];b fTd;rpy; gw;wpa gpd;tUk; mwpf;iffspy; vJ cz;ikay;y? 
1. [pv];b fTd;rpy; cWg;gpdh;fs; jq;fspy; xUtiu fTd;rpypd; Jizj; jiytuhf Njh;T 

nra;fpwhh;fs. 
2. [pv];b fTd;rpypd; xt;nthU KbTk; fye;J nfhs;Sk; kw;Wk; thf;fspf;Fk; cWg;gpdh;fspd; 

thf;Ffspy; %d;wpy; ,uz;L gq;fpw;Ff; Fiwahj $l;lj;jhy; vLf;fg;gLk;. 
3. [pv];b fTd;rpypd; nkhj;j cWg;gpdh;fspd; vz;zpf;ifapy; ghjp Ngh; mjd; $l;lj;jpy; 

Fiwe;j vz;zpf;ifapyhd egNu gq;F ngWth;. 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3 
c. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

81. The Monetary Policy of the Government of India emphasised the following two aims of the 
economic policy 
(i) To control and reduced inflationary pressure in the economy. 
(ii) Speed up economic development in the country to raise national income and standard of 

living of the people. 
(iii) To increase the per capita income. 
(iv) To have a cheap money policy. 
Select the correct answer by using the codes given below: 
a. (i) and (iii) are correct   b. (i) and (ii) are correct 

c. (ii) and (iii) are correct   d. (iii) and (iv) are correct 
e. Answer not known 
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,e;jpa murpd; gzthf;ff; nfhs;ifahdJ nghUshjhuf; nfhs;ifapd; gpd;tUk; ,uz;L 
Nehf;fq;fus typAWj;Jfpd;wJ. 
(i) nghUshjhuj;jpy; gztPf;f mOj;jj;ijf; fl;Lg;gLj;jTk; Fiwg;gjw;Fk;. 
(ii) Njrpa tUkhdk; kw;Wk; kf;fspd; tho;f;if juj;ij cah;j;j ehl;bd; nghUshjhu 

tsh;r;rpia tpiuTgLj;j. 
(iii) jyh tUkhdj;ij mjpfhpf;f 
(iv) kypTg; gzf;nfhs;iff;fhf 
FwpaPLfisg; gad;gLj;jpr; rhpahd tpil fhz;f. 
a. (i) kw;Wk; (iii) rhpahdit   b. (i) kw;Wk; (ii) rhpahdit 
c. (ii) kw;Wk; (iii) rhpahdit   d. (iii) kw;Wk; (iv) rhpahdit 
e. tpil njhpatpy;iy 
 

82. Which of the following statements about Index of Industrial Production (IIP) are correct? 
1. The IIP is a key economic indicator of the manufacturing activity in various sectors of 

economy. 
2. IIP data is regularly published by Central Statistical Organisation (CSO) 
3. The base year for IIP is 2011-12. 
a. 1 and 2 only   b. 1 and 3 only  c. 2 and 3 only 
d. 1, 2 and 3   e. Answer not known 
gpd;tUk; mwpf;iffspy;> njhopy;Jiw cw;gj;jpapd; thpir (IIP) gw;wpa rhpahd $w;W vJ? 
1. IIP vd;gJ> gy;NtW nghUshjhu Jiwfspd; cw;gj;jp eltbf;iffspd; Kf;fpa nghUshjhu 

Fwpfhl;bahFk;. 
2. IIP juTfs; kj;jpa Gs;spapay; mikg;G (CSO) – thy; njhlh;e;J ntspaplg;gLfpwJ. 
3. IIPf;fhd mbg;gil Mz;L 2011-12 MFk;. 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3   e. tpil njhpatpy;iy 
 

83. “British rule was established in India with the cooperation of Indians, and had survived only 
because of this co-operation. If Indians refused to co-operate, British rule in India would 
collapse with in a year and Swaraj would come,” who said this? 
a. Sardar Vallabhai Patel   b. Motilal Nehru 
c. Mahatma Gandhiji    d. Bal Gangadhar Tilak 
e. Answer not known 
“,e;jpah;fspd; xj;Jiog;NghL Mq;fpNyahpd; Ml;rp epWtg;gl;lJ> ,J xj;Jiog;gpdhy; jhd; 
,e;j Ml;rp gpioj;Jnfhz;bUf;fpwJ. ,e;jpah;fs; xj;Jiof;f kWj;jhy;> ,e;jpahtpy; 
Mq;fpNyahpd; Ml;rp xU tUlj;jpy; tPo;e;J Rauh[;[pak; kyUk;” vd;W $wpath; ahh;? 
a. rh;jhh; ty;ygha; gl;Nly;   b. Nkhjpyhy; NeU 
c. kfhj;kh fhe;jp     d. ghy fq;fhju jpyfh; 
e. tpil njhpatpy;iy 
 

84. In 1944, the Government of India setup a planning department under the chairmanship of  
a. S.N. Agarwal   b. M.N. Roy   c. Dr. John Mathai  
d. Sir Ardesir Dalal  e. Answer not known 
1944-,y; ,e;jpa murhq;fk; _____ jiyikapd; fPo; xU jpl;lj; Jiwia Vw;gLj;jpaJ. 
a. v];.vd;. mfh;thy;  b. vk;.vd;. uha;   c. Dr. [hd; khjha; 
d. rh; mh;Njrph; jyhy;  e. tpil njhpatpy;iy 
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85. Who arrested by the British Government for the Bomb explosion in 1933 at Srivilliputur Police 
Station? 
a. Sathyamurthy   b. Parthasarathy   c. Kamaraj 
d. Ananthakrishnan  e. Answer not known 
1933-k; Mz;L =tpy;ypGj;J}h; fhty; epiyaj;jpy; ntbFz;L ntbj;jjw;fhf Mq;fpNya murhy; 
ifJ nra;ag;gl;lth; ahh;? 

 a. rj;jpa%h;j;jp   b. ghh;j;jrhujp   c. fhkuh[; 
d. mde;jfpU~;zd;  e. tpil njhpatpy;iy 

 
86. What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923? 

a. The problem of the Rupee  b. Caste System 
c. Untouchability in India  d. Unbritish Rule in India 
e. Answer not known 
1923Mk; Mz;by; Nkw;nfhz;l lhf;lh; B.R. mk;Ngj;fhpd; Kidth; gl;l Ma;tpd; jiyg;G vd;d? 
a. &ghapd; gpur;rpid   b. rhjp mikg;G 
c. ,e;jpahtpy; jPz;lhik  d. ,e;jpahtpy; Mq;fpNyah; ,y;yhj Ml;rp 
e. tpil njhpatpy;iy 
 

87. Acid rains are produced by 
a. Excess NO2 and SO2 from burning fossil fuels 
b. Excess production of NH3 by industry and coal gas 
c. Excess release of carbon monoxide by incomplete combustion 
d. Excess formation of CO2 by combustion and animal respiration 
e. Answer not known 
mkpy kio vjdhy; cUthfpwJ 
a. gbk vhpnghUis vhpg;gjhy; ntsptUk; mjpfg;gbahd NO2 kw;Wk; SO2 %yk; 
b. mjpfg;gbahd (NH3) cw;gj;jp kw;Wk; gbk epyf;fhp thA %yk; 
c. mjpfgbahd fhh;gd; Nkhdhf;irL Koikahf vhpf;fg;glhky; ,Ug;gJ 
d. mjpfg;gbahd gad;ghlw;w fhpakpythA kw;Wk; tpyq;fpd Rthr Kiwfs; %yk; 
e. tpil njhpatpy;iy 

 
88. Why is the Himalayan region poor in mineral resources? 

a. Displacement of rock strata has disturbed the arrangement of rocks and made it complex 
b. It is made up of crystalline rock 
c. The terrain makes exploitation of minerals difficult 
d. The climatic conditions are not suitable for exploitation of minerals  
e. Answer not known 
,kakiyg; gFjpfspy; fdpk tsq;fs; Vd; Fiwthf cs;sd? 
a. ghiw mLf;Ffspd; ,lg;ngah;r;rp ghiwfspd; mikg;igr; rPh;Fiyj;J mij 

rpf;fyhf;fpAs;sJ 
b. ,J gbfg; ghiwahy; MdJ 
c. epyg;gug;G fdpkq;fs; vLg;gij fbdkhf;FfpwJ 
d. jl;gntg;gepiy fdpkq;fs; vLg;gjw;F Vw;wjy;y 
e. tpil njhpatpy;iy 

 
89. Asthamudi is an important lagoon of the _____ coast 

a. Malabar coast   b. Konkan coast 
c. Cholamandel coast  d. Northern circar coast 
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d. Answer not known 
m];jhKb vd;w Kf;fpa fhay; _________ flw;fiuapy; fhzg;gLfpwJ 
a. kyghh; flw;fiu  b. nfhq;fhz; flw;fiu 
c. Nrhlkz;ly flw;fiu d. tlrh;fhh; flw;fiu 
e. tpil njhpatpy;iy 
 

90. Which of the following statements are true about population growth of India? 
i. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 44% of the 

total population of India in 1996 
ii. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 48% of the 

total population of Indian in 2016 
iii. These states contributed 70% of the total increase in population of the country during the 

period of 1996-2016 
a. i only   b. i and iii only   c. i and ii only 
d. ii and iii only  e. Answer not known 
,e;jpahtpd; kf;fl;njhif tsh;r;rp gw;wpa gpd;tUk; $w;Wfspy; rhpahdit vit? 
i. gPfhh;> cj;jpug;gpuNjrk;> kj;jpagpuNjrk;> ,uh[];jhd; kw;Wk; xhprh> 1996,y; ,e;jpahtpd; 

nkhj;j kf;fl;njhifapy; 44 rjtPjk; MFk; 
ii. gPfhh;> cj;jpug;gpuNjrk;> kj;jpagpuNjrk;> ,uh[];jhd; kw;Wk; xhprh> 2016,y; ,e;jpahtpd; 

nkhj;j kf;fl;njhifapy; 48 rjtPjk; MFk; 
iii. 1996-2016Mk; fhy fl;lj;jpy; ehl;bd; nkhj;j kf;fl;njhif mjpfhpg;gpy; Nkw;fz;l 

khepyq;fs; 70 rjtPJk; gq;fspj;jd. 
a. i kl;Lk;   b. i kw;Wk; iii kl;Lk;  c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk iii kl;Lk; e. tpil njhpatpy;iy 
 

91. In A.D. 1894, the Kashi Nagri Pracharini Sabha was founded in 
a. Delhi   b. Bombay    c. Madras 
d. Calcutta   e. Answer not known 
fp.gp.1894,y; fhrp efhp gpur;rhhpdp rgh ________ ,y; epWtg;gl;lJ 
a. nly;yp   b. gk;gha;    c. nkl;uh]; 
d. fy;fj;jh   e. tpil njhpatpy;iy  
 

92. Who was the first person to place the demand for a separate Muslim state in British India? 
a. Mohammad Iqbal   b. Muhammad Ali Jinnah 
c. Rahmat Ali    d. Mountbatten 
e. Answer not known 
gphpl;b~; ,e;jpahtpy;> Kjd; Kjypy;> K];yPk;fSf;fhd jdp ehL Nfhhpf;ifia Kd;itj;jth; 
ahh;? 
a. Kfk;kJ ,f;ghy;   b. Kfk;kJ myp [pd;dh 
c. u`;kj; myp    d. kTz;l;Ngl;ld; 
e. tpil njhpatpy;iy 
 

93. Which of the following statements are true about Buddhism? 
1. Buddhism denied the authority of Vedas 
2. Buddha’s teachings were largely based on Brahmanic ideas of Punarjanma, Karma and 

Moksha 
3. Buddhism was not practical and ethical 
4. Buddhism accepts God as creator 
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a. 1, 2, 3 are correct   b. 1 and 2 are correct 

c. only 2 is correct   d. 3 and 4 are correct 
e. answer not known 
fPo; Fwpg;gplg;gLgtw;wpy; ngsj;j kjk; Fwpj;j rhpahd $w;iw Njh;T nra;f 
1. ngsj;jk; Ntjq;fspd; Mjpf;fj;ij kWf;fpwJ 
2. ngsj;j Nghjidfs; kWgpwg;G> Nkhl;rk;> fh;kh Mfpa gpuhkzf; fUj;Jf;fis 

mbg;gilahff; nfhz;lJ 
3. ngsj;jk; eilKiw kw;Wk; newpKiwaw;wJ 
4. ngsj;jk; flTisg; gilg;gtuhf Vw;Wf;nfhs;fpwJ 
a. 1> 2 kw;Wk; 3 rhp   b. 1 kw;wk; 2 rhp 
c. 2 kl;Lk; rhp    d. 3 kw;Wk; 4 rhp 
e. tpil njhpatpy;iy 
 

94. why Ulama’s had great influence in Muslim society, politics, administration and religion? 
a. They were in great numbers during the Delhi Sultanate 
b. Due to their holy living and high thinking 
c. They were well-versed in Muslim theology and Fiqh 
d. They controlled trade and industry 
e. Answer not known 
K];yPk; r%fk;> murpay;> eph;thfk; kw;Wk; kjk; Mfpatw;wpy; cykhf;fs; Vw; ngUk; 
nry;thf;Fr; nrYj;jpdhh;fs;? 
a. mth;fs; nly;yp Ry;jhdfj;jpy; mjpf vz;zpf;ifapy; ,Ue;jdh; 
b. mth;fspd; Gdpj tho;f;if kw;Wk; cah;e;j rpe;jid fhuzkhf 
c. mth;fs; K];yPk; ,iwapay; kw;Wk; ./gpf; Mfpatw;wpy; ed;F Njh;r;rp ngw;wpUe;jdh; 
d. mth;fs; th;j;jfk; kw;Wk; njhopy;Jiwiaf; fl;Lg;gLj;jpdh; 
e. tpil njhpatpy;iy 
 

95.  
Assertion (A): Rule of law entails that all persons, both public and private  

institutions, the state and other entities are accountable to publicly promulgated 
laws. 

Reason (R): The rule of law forms the base to international peace and security,  
and it is at the core to protect people’s rights and their fundamental freedom. 

a. A is true but R is false 
b. Both A and R are true and R is the correct explanation of A 
c. A is false but R is true 
d. Both A and R are true but R is not the correct explanation of A 
e. Answer not known 
$w;W (A):   rl;lj;jpd; Ml;rp vd;gJ muR kw;Wk; jdpahh; epWtdq;fspy;  

cs;s midtUk; kw;Wk; muR kw;Wk; gpw epWtdq;fSk; kf;fshy; 
,aw;wg;gl;l rl;lj;jpw;F nghWg;ghdth;fs; 

fhuzk; (R):  rl;lj;jpd; Ml;rp vd;gJ gd;dhl;L mikjp kw;Wk; ghJfhg;G  
mbg;gilapy; cUthdJ. NkYk; mJ kf;fspd; chpikfisAk; mth;fspd; 
mbg;gil rje;jpuj;ijAk; fhg;gJ Kf;fpak; vd;fpwJ. 

a. A vd;gJ rhp Mdhy; R vd;gJ jtW 
b. A kw;Wk; R ,uz;Lk; rhp kw;Wk; R vd;gJ A d; rhpahd tpsf;fkhFk; 
c. A jtW Mdhy; R vd;gJ rhp 
d. A kw;Wk; R vd;gJ rhp Mdhy; R vd;gJ A d; rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
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96. Which of the following statements is/are not true about the ‘governor’? 

a. He appoints the Advocate General of a State 
b. He appoints the Chancellor of Universitites in the State 
c. He appoints the Chief Minister 
d. He appoints the state Election Commissioner 
e. Answer not known 
‘khepy MSeh;’ gw;wp fPo;f;fz;l thf;fpaq;fspy; vJ/vit jtwhdJ? 
a. khepy jiyik tof;fwpQiu epakpf;fpwhh; 
b. khepyg; gy;fiy fofq;fspd; Nte;jiu epakpf;fpwhh; 
c. Kjyikr;riu epakpf;fpwhh; 
d. khepy Njh;jy; mjpfhhpia epakpf;fpwhh; 
e. tpil njhpatpy;iy 

 
97. Need for a constitution for free India was first suggested by 

a. Motilal Nehru  b. M.N. Roy  c. Subash Chandra Bose 
d. Mahatma Gandhi e. Answer not known 
Rje;jpu ,e;jpahtpw;F Xh; murikg;Gr; rl;lk; Ntz;Lk; vd Kjypy; ghpe;Jiuj;jth; 
a. Nkhjpyhy; NeU b. M.N. uha;  c. Rgh~; re;jpuNgh]; 
d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
 

98. In a Modern Democratic state, citizenship is a 
a. Natural right     b. Legal Right 
c. Statutory right     d. Fundamental right 
e. Answer not known 
xU etPd kf;fshl;rp ehl;by; FbAhpik vd;gJ 
a. ,aw;if chpik     b. rl;l chpik 
c. ehlhSkd;wr; rl;l chpik   d. mbg;gil chpik 
e. tpil njhpatpy;iy 
 

99. Which one of the following statement(s) is not correct about the Indus Valley People? 
i. The Indus Valley People worshipped trees and animals 
ii. The principal deity of Indus Valley People was Krishna 
iii. The Indus Valley People worshipped fire and water 
iv. The principal deity of Indus Valley People was mother goddess 
a. i and iii only   b. ii only   c. i and ii only 
d. ii and iii only   e. Answer not known 
fPo;f;fz;ltw;Ws; rpe;J kf;fisg; gw;wpa jtwhd $w;W(fs;) vJ/vit? 
i. rpe;Jntsp kf;fs; kuk; kw;Wk; tpyq;Ffisf; flTshf topgl;ldh; 
ii. rpe;Jntsp kf;fspd; Kf;fpaf; flTs; fpU~;zh; 
iii. rpe;Jntsp kf;fs; neUg;G kw;Wk; ePiuf; flTshf topgl;ldh; 
iv. rpe;Jntsp kf;fspd; Kf;fpaf; flTs; ngz; nja;tq;fs; 
a. i kw;Wk; iii kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk; iii kl;Lk;  e. tpil njhpatpy;iy 
 

100. The primary contaminant included in cigar smoke is 
a. Carbon monoxide and dioxide   b. Carbon monoxide and Nicotine 
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c. Carbon monoxide and Benzene   d. Dioxicine and benzene 
e. Answer not known 
rpfnul; Gifapy; cs;s Kjy;epiy khR 
a. fhh;gd;; Nkhdhf;irL kw;Wk; ilMf;irL 
b. fhh;gd; Nkhdhf;irL kw;Wk; epf;Nfhbd; 
c. fhh;gd; Nkhdhf;irL kw;Wk; ngd;rpd; 
d. ilMf;rpird; kw;Wk; ngd;rpd; 
e. tpil njhpatpy;iy 
 

101. When a ball is projected upwards there is an increase in its 
1. Potential Energy  2. Momentum  3. Kinetic Energy 
a. 1 only   b. 1 and 2 only   c. 2 only 
d. 2 and 3 only  e. Answer not known 
ge;ij NkNy vwpAk;NghJ mJ NkNy nry;fpwJ. mg;nghOJ ge;jpy; fPo;f;fz;ltw;Ws; vJ 
mjpfhpf;fpwJ? 
1. epiyahw;wy; (m) rhj;jpakhd Mw;wy;   
2. ce;jk; 
3. ,af;f Mw;wy; 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;   c. 2 kl;Lk; 
d. 2 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 
 

102. The enzyme involved in unwinding of DNA is 
a. Telomerase   b. Helicase   c. Polymerase 
d. Ligase    e. Answer not known 
DNA it ,uz;L ,iofshf gphpg;gjpy; <LgLk; nehjp ahJ? 
a. nlNyhkNu];   b. n`ypNf];  c. ghypnkNu]; 
d. ypNf];    e. tpil njhpatpy;iy 
 

103. The first step in the seed germination is imbibition of water which induce the 
a. Stimulation of plumule    b. Breaking dormancy 

c. Growth of radicle     d. Resumes metabolic activities 
e. Answer not known 
tpij Kisj;jypd; Kjy; epiyahf ePh; cwpQ;rg;gLk;NghJ ,J vij J}z;LfpwJ? 
a. Kis FUj;J J}z;lg;gLfpwJ   b. tpij cwf;fk; jilgLfpwJ 
c. tpijNth; tsh;fpwJ    d. nry; ,af;fk; Jtq;FfpwJ 
e. tpil njhpatpy;iy 
 

104. Which is the one considered to be more important to study the History of Science is 
a. Antiquarian curiosity    b. Logical reasoning 
c. Scientific Knowledge    d. Conjunction with philosophy 
e. Answer not known 
mwptpay; tuyhw;wpidf; fw;gjpy; kpf Kf;fpakhdjhff; fUjg;gLk; xd;W 
a. gok;nghUs; kPJ Mh;tk;    b. jh;f;f hPjpahff; fhuzq;fhzy; 
c. mwptpay; mwpT     d. jj;Jtj;Jld; ,izg;G 
e. tpil njhpatpy;iy 
 

105. Which one of the following phenomenon cause adverse changes in global climate pattern and 
wreak havoc world wide in the form of floods and droughts? 
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a. Carbon Diodixe  b. El-Nino   c. Tropical Cyclones 
d. Itai-Itai   e. Answer not known 
fPo;f;fhz;gtw;wpy; ve;j xd;W> cyf mstpy;> nts;sk; twl;rp vd;w tbtq;fspy; 
Gtpj;jl;gntg;g Kiwfspy; ghjfkhd khw;wq;fis Vw;gLj;jp> ,aw;ifg; NguopTfs; epfof; 
fhuzkhf ,Uf;fpwJ? 
a. fhpapy thA  b. vy;epNdh   c. ntg;gkz;ly #whtsp 
d. ,l;lha;-,l;lha;  e. tpil njhpatpy;iy 
 

106. Which of the following statement is/are correct NONOBOTS are: 
1. Robots that carry out a very specific function at nano scale level 
2. They can be injected into blood stream 
3. They can be used to measure toxic elements in the environment 
4. They are very cheap to produce 
a. 1, 2 and 4   b. 1, 3 and 4    c. 1, 2 and 3 
d. 1, 2, 3 and 4  e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ/vit rhpahd $w;W ‘NANOBOT’ ehNdhghl; vdg;gLtJ 
1. xU Fwpg;gpl;l gzpia nra;a cjTk; ehNdhkPl;lh; mstpyhd NuhNgh MFk; 
2. ,tw;iw ,uj;j ehsq;fspy; cl;GFj;jyhk; 
3. ,tw;iw Rw;Wr;#oypy; cs;s er;Rg; nghUl;fis mstpl gad;gLj;jyhk;. 
4. ,tw;iw cw;gj;jp nra;tJ kpf kypthdJ 
a. 1> 2 kw;Wk; 4  b. 1> 3 kw;Wk; 4   c. 1> 2 kw;Wk; 3 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 

107. Which of the following are correctly paired: 
i. KVK – Kisan Vigyan Kendra 
ii. SAME – Sub Mission on Agriculture Extension 
iii. NSDA – National Skill Development Agency 
iv. ATMA – Agricultural Technology Management Agency 
a. i, ii and iii   b. ii, iii and iv   c. i, iii and iv  
d. i, ii, iii and iv  e. Answer not known 
gpd;tUtdtw;wpy; vJ rhpahf ,izf;fg;gl;Ls;sJ? 
i. KVK – fprhd; tpQ;Qhd; Nfe;uh 
ii. SAME – Ntshz; tphpthf;fj; Jiz eltbf;if 
iii. NSDA – Njrpa jpwd; Nkk;ghl;L Kfik 
iv. ATMA – tptrha njhopy;El;g Nkyhz;ik Kfik 

a. i, ii kw;Wk; iii  b. ii, iii kw;Wk; iv   c. i, iii kw;Wk; iv 

d. i, ii, iii and iv  e. tpil njhpatpy;iy 
 

108. How many number or Ramsar sites are identified in India till 15th August 2022? 
a. 82  b. 78  c. 75  d. 70  e. Answer not known 
,e;jpahtpy; vj;jid uhk;rhh; ,lq;fs; 15 Mf];l; 2022 tiu fz;lwpag;gl;Ls;sd? 
a. 82  b. 78  c. 75  d. 70  e. tpil njhpatpy;iy 
 

109. Read the list given below carefully of dignitaries and find out among them the correct 
hierarchical order with respect to their rank and precedence 
i. Chief Election Commissioner of India 
ii. Cabinet Secretary 
iii. Chief of Army Staff 
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iv. Deputy Speaker, Lok Sabha 
a. iv, iii, i and ii   b. iv, iii, ii and i  c. i, iv, ii and iii 

d. i, iii, iv and ii   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s cah; gjtp mYtyh;fspd; gl;baiyf; ftdpj;J mth;fs; gjtpapd; 
mbg;gilapyhd Kd;chpikg; ghepiyg; gl;baiyf; fz;lwpf 
i. ,e;jpa jiyik Njh;jy; Mizah; 
ii. kj;jpa mikr;ruitr; nrayh; 
iii. jiyik ,uhZt mjpfhhp 
iv. kf;fsit Jizj; jiyth; 
a. iv, iii, i kw;Wk; ii b. iv, iii, ii kw;Wk; i c. i, iv, ii kw;Wk; iii  
d. i, iii, iv kw;Wk; ii e. tpil njhpatpy;iy 
 

110. Which is the international coalition of solar-resource rich countries that are collectively 
addressing common challenges on solar-energy applications? 
a. International Solar Energy Society (ISES) 
b. International Solar Alliance (ISA) 
c. International Renewable Energy Agency (IRENA) 
d. International Energy Agency (IEA) 
e. Answer not known 
#hpa Mw;wy; gad;ghLfspy; nghJthf cs;s rthy;fis jPh;g;gJ Fwpj;J $l;lhf tpthjpf;f 
cUthd - #hpa tsk; kpFe;j ehLfspd; $l;likg;G vJ? 
a. rh;tNjr #hpa Mw;wy; r%fk; (ISES) 
b. rh;tNjr #hpa rf;jp $l;lzp (ISA) 
c. rh;tNjr GJg;gpf;fj;jf;f Mw;wy; Kfik (IRENA) 
d. rh;tNjr Mw;wy; Kfik (IEA) 
e. tpil njhpatpy;iy 
 

111. Match the following and choose the correct option related to ISRO 
A. URSC  1. ISRO’s virtual space Museum 
B. ITTP  2. ISRO satellite centre 
C. SPARK  3. Space science for school students 
D. YUVIKA  4. Technical training for ISRO staff 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 2 4 1 3 
d. 4 3 2 1 
e. Answer not known 
ISRO njhlh;ghd fPo;f;fhz;gtw;iw nghUj;jp kw;Wk; rhpahd tpilia Njh;f 
A. URSC  1. ISRO tpd; tph;r;Rty; ];Ng]; kpa+rpak; 
B. ITTP  2. ISRO Jizf;Nfhs; epiyak; 
C. SPARK  3. gs;sp khzth;fSf;fhd tpz;ntsp mwptpay; 
D. YUVIKA  4. ISRO tpd; gzpahsh;fSf;fhd njhopy;El;gg; gapw;rp 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 2 4 1 3 
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d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

112. Match the winner of medal in common wealth games 2022 with their sport 
Player    Sport 
A. Sharat Kamal  1. Boxing 
B. Lakshya Sen  2. Weight lifting 
C. Mirabai Chanu  3. Table Tennis 
D. Nikhat Zareen  4. Badminton 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 2 1 3 
d. 2 3 4 1 
e. Answer not known 
fhkd;nty;j; 2022 tpisahl;by; gjf;fk; ntd;wth;fis mth;fsJ tpilahl;Lld; nghUj;Jf 
tpisahl;L tPuh;  tpisahl;L 
A. N~ul; fky;  1. Fj;J rz;il 
B. yf;]pah nrd;  2. gS J}f;Fjy; 
C. kPuhgha; rhD  3. Nki[ ge;J 
D. epf;fl; ~hpd;  4. G+ ge;J 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 2 1 3 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

113. Which is correct? 
i. HYV – High Yielding Varieties 
ii. MSP – Maximum Support Prices 
iii. PDS – Public Distribution System 
iv. IPM – Integrated Pesticide Management 
a. i, ii and iv only   b. i and iii only  c. i, ii and iii only 
d. i, iii and iv only   e. Answer not known 
vJ rhpahdJ? 
i. HYV – mjpf tpisr;ry; jUk; tiffs; 
ii. MSP – mjpfgl;r MjuT tpiy 
iii. PDS – nghJ tpepNahf Kiw 
iv. IPM – xUq;fpize;j g+r;rpf;nfhy;yp Nkyhz;ik 
a. i, ii kw;Wk; iv kl;Lk;  b. i kw;Wk; iii kl;Lk;  c. i, ii kw;Wk; iii kl;Lk; 
d. i, iii kw;Wk; iv kl;Lk;  e. tpil njhpatpy;iy 
 

114. Match the following  
A. 1997  1. Anaithu Grama Anna Marumalarchi Thittam 
B. 1998  2. Varumun Kappom Thittam 
C. 2006  3. Samathuvapuram 
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D. 2009  4. Namakku Naame Thittam 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 3 1 4 2 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf 
A. 1997  1. midj;J fpuhk mz;zh kWkyh;r;rpj; jpl;lk; 
B. 1998  2. tUk; Kd; fhg;Nghk; jpl;lk; 
C. 2006  3. rkj;JtGuk; 
D. 2009  4. ekf;F ehNk jpl;lk; 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

115. Match the following Acts with its corresponding years 
A. Madras Wild Elephants Preservation Act  1. 1882 
B. Tamil Nadu forest Act     2. 1980 
C. Forest Conservation Act     3. 1972 
D. Wildlife Protection Act     4. 1873 
 A B C D 
a. 1 4 3 2 
b. 4 1 2 3 
c. 2 3 1 4 
d. 3 2 4 1 
e. Answer not known 
rl;lq;fis mjNdhL njhlh;Gila Mz;LfNshL nghUj;J 
A. kjuh]; td ahidfs; ghJfhg;Gr;rl;lk;  1. 1882 
B. jkpo;ehL tdr;rl;lk;     2. 1980 
C. td ghJfhg;Gr; rl;lk;     3. 1972 
D. td tpyq;Ffs; ghJfhg;Gr; rl;lk;   4. 1873 
 A B C D 
a. 1 4 3 2 
b. 4 1 2 3 
c. 2 3 1 4 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

116. During the early resistance against the British who issued the “Tiruchirappalli Proclamation” 
a. Veerapandia Kattabomman   b. Velunachiar 
c. Maruthu Brothers    d. Puli Thevar 
e. Answer not known 
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Mq;fpNyah;fSf;F vjpuhd Muk;gfhy vjph;g;gpd; NghJ ‘jpUr;rpuhg;gs;sp gpufldj;ij’ 
ntspapl;lth; 
a. tPughz;ba fl;lnghk;kd;    b. NtY ehr;rpahh; 
c. kUJ rNfhjuh;fs;    e. Gypj;Njth; 
e. tpil njhpatpy;iy 
 

117. Match the following 
Name     Related to 
A. Swami Sahajananda  1. Oppressed Hindus 
B. M.C. Rajah   2. Tamizhan 
C. Pandit Iyothee Thass  3. Nandanar Kalvi Kazhagam 
D. Veerasalingam   4. The Widows Home 
 A B C D 
a. 3 1 2 4 
b. 1 3 2 4 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf 
ngah;     njhlh;GilaJ 
A. Rthkp rf[hee;jh  1. mg;u];L `pd;L]; 
B. M.C. uh[h    2. jkpod; 
C. gz;bl; mNahj;jpjhrh;  3. ee;jdhh; fy;tpf; fofk; 
D. tPNurypq;fk;   4. tpjit ,y;yk; 
 A B C D 
a. 3 1 2 4 
b. 1 3 2 4 
c. 1 2 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

118. Match the following 
Tinais   Their Gods 
A. Kurinji  1. Kali 
B. Mullai  2. Murugan 
C. Marudam  3. Indra 
D. Palai  4. Tirumal 
 A B C D 
a. 3 4 1 2 
b. 1 3 4 2 
c. 2 4 3 1 
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf 
jpiz   flTs; 
A. FwpQ;rp  1. fhsp 
B. Ky;iy  2. KUfd; 
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C. kUjk;  3. ,e;jpud; 
D. ghiy  4. jpUkhy; 
 A B C D 
a. 3 4 1 2 
b. 1 3 4 2 
c. 2 4 3 1 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

119. Gandhiji established as ashram at Sabarmathi. Likewise an ashram was established in Tamil 
Nadu by Rajaji. Where was it established? 
a. Madurai    b. Vedaranyam   c. Salem 
d. Thiruchengodu   e. Answer not known 
fhe;jpabfs; rgh;kjp vd;Dk; ,lj;jpy; xU Mrpukk; cUthf;fpdhh;. mNj Nghy; ,uh[h[p 
jkpofj;jpy; xU Mrpukk; cUthf;fpdhh;. vq;Nf mij cUthf;fpdhh;? 
a. kJiu    b. Ntjhuz;ak;   c. Nryk; 
d. jpUr;nrq;NfhL   e. tpil njhpatpy;iy 
 

120. In 1921 at Erode, E.V.R. picketed toddy shop. Two women also participated in picketing. They 
were the first women to be arrested for picketing toddy shops in Tamil Nadu. Who were they? 
a. Nagammaiyar and Kannammal 
b. Nagammaiyar and Moovalur Ramamirtham Ammaiyar 
c. Maniyammaiyar and Muthulakshmi Reddy 
d. Maniyammaiyar and Nagammaiyar 
e. Answer not known 
<Nuhl;by; 1921Mk; Mz;L <.nt.uh.jkpo;ehl;by; fs;Sf;fil kwpay; Nghuhl;lk; elj;jpdhh;. 
mg;NghJ ,uz;L ngz;fs; mtUld; Nrh;e;J kwpay; Nghuhl;lj;jpy; <Lgl;ldh;. mt;tpU ngz;fs; 
jhd; fs;Sf;fil kwpay; Nghuhl;lj;jpy; <Lgl;ljw;fhf Kjd; Kjypy; ifJ nra;ag;gl;lth;fs; 
mth;fs; ahh;? 
a. ehfk;ikahh; kw;Wk; fz;zk;khs; 
b. ehfk;ikahh; kw;Wk; %tY}h; ,uhkhkph;jk; mk;ikahh; 
c. fz;zk;khs; kw;Wk; Kj;Jnyl;Rkp nul;b 
d. kzpak;ikahh; kw;Wk; ehfk;ikahh; 
e. tpil njhpatpy;iy 

 
121. Which of the following are correctly paired? 

1. Nizhal Thaankalgal    - Vaigunda Swamigal 
2. Hindu Progressive Improvement Society - Rajaram Mohan Roy 
3. Samarasa Sanmarka Sangam   - Vallalar 
4. Self respect Morality    - Vedanayagam Pillai 
a. 1 and 3  b. 1 and 2    c. 1 only 
d. 1, 2 and 4 e. Answer not known 
rhpahfg; nghUj;jg;gl;l N[hbfisj; Njh;e;njLf;fTk; 
1. epoy; jhq;fy;fs;     - itFz;l Rthkpfs; 
2. ,e;J Kw;Nghf;F Kd;Ndw;w rq;fk;  - uh[huhk; Nkhfd; uha; 
3. rkur rd;khh;f;f rq;fk;    - ts;syhh; 
4. Rakhpahij ,af;fk;    - Ntjehafk; gps;is 
a. 1 kw;Wk; 3   b. 1 kw;Wk; 2   c. 1 kl;Lk; 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 
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122. Match the following books with their authors and find the correct order 

A. Ulagam Sutrum Thamilan  1. Desiya Kavi 
B. Gnanaratham    2. Swaminathan 
C. Thanneer Thanneer   3. Ve. Ramalingam 
D. En Kadhai     4. A. Karuppan 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 2 1 
d. 4 1 2 3 
e. Answer not known 
gl;bay; I ,y; cs;s E}y;fisg; gl;bay; II ,y; cs;s E}yhrphpah;fSld; nghUj;Jf 
A. cyfk; Rw;Wk; jkpod;  1. Njrpaf;ftp 
B. Qhdujk;    2. Rthkpehjd; 
C. jz;zPh; jz;zPh;   3. nt. ,uhkypq;fk; 
D. vd; fij    4. V. fUg;gd; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 4 2 1 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

123. Choose the correct meaning for the following sentences: 
1. Palakudai Neezhalum Thankudai Keel Kaanbar 
2. Iravaar Irapparkku Ondru Ieevar 
a. These two statements appreciates the prowess of the king 
b. These two statements appreciates the philanthropists 
c. These two statements eulogizes the farmers 
d. These two statements talks about the humble person 
e. Answer not known 
fPo;f;fhZk; $w;WfSf;Fhpa nghUj;jkhd nghUisj; Njh;T nra;f 
1. gyFil ePoYk; jq;Filf;fPo;f; fhz;gh; 
2. ,uthh; ,ug;ghh;f;F xd;W <th; 
a. ,t;tpuz;L thpfSk; murhpd; ngUikiag; NgRfpd;wd 
b. ,t;tpuz;L thpfSk; ts;sypd; ngUikiag; Nghw;Wfpd;wd 
c. ,t;tpuz;L thpfSk; cothpd; ngUikiag; NgRfpd;wd 
d. ,t;tpuz;L thpfSk; gzpTs;sthpd; gz;igg; Nghw;Wfpd;wd. 
e. tpil njhpatpy;iy 

  
124. “Kavarum Kazhagamum Kaiyum Tharukki 

Ivariyaar Illagi Yaar” – to whom does the advice is said in this Kural? 
a. Guards   b. Ambassadors   c. Munisters 
d. Kings   e. Answer not known 
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“ftWk; fofKk; ifAk; jUf;fp 
,twpahh; ,y;yhfp ahh;” - ,f;Fws; ahUf;F mwpTiu $WfpwJ? 
a. fhtyh;fs;  b. J}Jth;fs;   c. mikr;rh;fs; 
d. Nte;jh;fs;  e. tpil njhpatpy;iy 
 

125. Find out the missing value in the given figure 

 
a. 8  b. 64  c. 216  d. 25  e. Answer not known 
nfhLf;fg;gl;l glj;jpy; tpLgl;l vz;zpd; kjpg;igf; fhz;f 

 
a. 8  b. 64  c. 216  d. 25  e. tpil njhpatpy;iy 
 

126. ‘A’ can finish a work in 18 days and ‘B’ can do same work in the half the time taken by ‘A’, then 
if they work together, then what part of same work they can finish in a day. 

a. 
1

9
   b. 

1

6
  c. 

2

7
  d. 

2

5
  e. Answer not known 

A xU Ntiyia 18 ehl;fspy; Kbf;fpwhh;. B mNj Ntiyia Kbf;f A vLf;Fk; ehl;fspy; 
ghjpia vLf;fpwhh; vdpy; ,UtUk; Nrh;e;J xU ehspy; Kbf;Fk; Ntiyapd; msT vd;d? 

a. 
1

9
   b. 

1

6
  c. 

2

7
  d. 

2

5
  e. tpil njhpatpy;iy 

 
127. The side of a metallic cube is 12 cm. It is melted and formed into a cuoboid whose length and 

breadth are 18 cm and 16 cm respectively. Find the height of the cuboid. 
a. 6 cm  b. 7 cm c. 8 cm d. 10 cm e. Answer not known 
cNyhfj;jhy; Md xU fdr;rJuj;jpd; gf;f msT 12 nr.kP. mjid cUf;fp 18 nr.kP ePsk; 
kw;Wk; 16 nr.kP mfyKk; cs;s xU fdr;nrt;tfk; cUthf;fg;gLfpwJ. me;j fdr;nrt;tfj;jpd; 
cauj;ijf; fhz;f 
a. 6 nr.kP  b. 7 nr.kP c. 8 nr.kP d. 10 nr.kP  e. tpil njhpatpy;iy 
 

128. A car travels 90 km in 2 hours 30 minutes. Then the time required to cover 210 km with the 
same speed is 
a. 5 hours 50 minutes    b. 5 hours 30 minutes 
c. 5 hours 20 minutes    d. 6 hours 50 minutes 
e. Answer not known 
xU kfpOe;J 90 fp.kP J}uj;ij 2 kzp 30 epkplq;fspy; flf;Fk;. mNj Ntfj;jpy; 210 
fp.kPl;liuf; flf;f MFk; Neuk; 
a. 5 kzp 50 epkplq;fs;    b. 5 kzp 30 epkplq;fs; 
c. 5 kzp 20 epkplq;fs;    d. 6 kzp 50 epkplq;fs; 
e. tpil njhpatpy;iy 
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129. The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of their heights is 5 : 3. 
Then the ratio of their C.S.A. is  
a. 5 : 2    b. 5 : 3     c. 3 : 2 
d. 2 : 5    e. Answer not known 
,uz;L Neh; tl;l cUisfspd; Muq;fspd; tpfpjk; 3 : 2 vd;f. NkYk; mtw;wpd; cauq;fspd; 
tpfpjk; 5 : 3 vdpy; mtw;wpd; tisgug;Gfspd; tpfpjk; 
a. 5 : 2    b. 5 : 3     c. 3 : 2 
d. 2 : 5    e. tpil njhpatpy;iy 
 

130. If price of a tea increased by 20%, by what percentage must the conusmption be reduced to 
keep the expense the same 

a. 
2

15 %
3

   b. 
2

16 %
3

    c. 
2

17 %
3

   

d. 
2

18 %
3

   e. Answer not known 

Njapiyapd; tpiy 20% mjpfhpf;Fk;NghJ Njapiy gad;ghl;bd; nryT khwhky; ,Uf;f 
Njapiy gad;ghl;bid vj;jid rjtPjk; Fiwj;Jf;nfhs;s Ntz;Lk;? 

a. 
2

15 %
3

   b. 
2

16 %
3

    c. 
2

17 %
3

   

d. 
2

18 %
3

   e. tpil njhpatpy;iy 

 
131. Akila scored 80% of marks in an examination. If her score was 576 marks. Find the maximum 

marks of the examination. 
a. 640    b. 680     c. 720 

d. 700    e. Answer not known 
mfpyh xU Njh;tpy; 80% kjpg;ngz;fisg; ngw;whs;. mts; ngw;wJ 576 kjpg;ngz;fs;. me;j 
Njh;tpd; nkhj;j kjpg;ngz;fisf; fhz;f 
a. 640    b. 680     c. 720 
d. 700    e. tpil njhpatpy;iy 
 

132. ‘Promoting soil health’ and ‘making rainwater harvesting compulsory’ – These statements 
relates to 
a. Green revolution      b. Blue revolution 
c. Evergreen revolution     d. Yellow revolution 
e. Answer not known 
‘kz;tsj;ij Nkk;gLj;Jjy;’ kw;Wk; ‘kioePh; Nrfhpg;ig fl;lhag;gLj;Jjy;’ - ,f;$w;Wld; 
njhlh;GilaJ 
a. gRikg;Gul;rp      b. ePyg;Gul;rp 
c. gRikahd Gul;rp      d. kQ;rs; Gul;rp 
e. tpil njhpatpy;iy 
 

133. Which are the articles that describe situations and confer power to Union Government to claim 
control over states 
a. Art 368 and 313      b. Art 356 and 363 
c. Art 365, 256 and 257     d. Art 349 and 350 
e. Answer not known 
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ve;j rl;lq;fs; #o;epiyf; fUjp khepy muRfis kj;jpa muR fl;Lg;gLj;Jk; mjpfhuq;fs; 
$Wfpd;wd. 
a. ruj;J 368 kw;Wk; 313     b. ruj;J 356 kw;Wk; 363 
c. ruj;J 365> 256 kw;Wk; 257    d. ruj;J 349 kw;Wk; 350 
e. tpil njhpatpy;iy 
 

134. The functions of Reserve Bank of India are 
i. Issue of coins and Bank notes 
ii. Banker to the Government 
iii. Regulating credit in the country 
a. i and ii only   b. i  and iii only  c. ii and iii only 
d. i, ii and iii    e. answer not known 
,e;jpa hprh;t; tq;fpapd; nray;ghLfshtd 
i. ehzaq;fs; kw;Wk; &gha; Nehl;L ntspapLjy; 
ii. murhq;fj;jpw;F tq;fpahsuhf nray;gLjy; 
iii. ehl;by; fld; Kiwfis xOq;FgLj;Jjy; 
a. i kw;Wk; ii kl;Lk;   b. i kw;Wk; iii kl;Lk; c. ii kw;Wk; iii kl;Lk;  
d. i, ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

135. How many pairs are correctly matched? 
Vaccine    Nature 
1. Pfizer    - mRNA vaccine 
2. Covishield   - DNA based vaccine 
3. Covaxin    - Inactive vaccine 
4. Sputnik. V   - Viral vector vaccine 
a. 1 pair   b. 2 pairs    c. 3 pairs 
d. 4 pairs   e. Answer not known 
vj;jid N[hbfs; rhpahf nghUj;jg;gl;Ls;sd? 
jLg;g+rp    nray; 
1. Pfizer    - mRNA jLg;g+rp 
2. Covishield   - DNA mbg;gilapyhd jLg;g+rp 
3. Covaxin    - nraypoe;j jLg;g+rp 
4. Sputnik. V   - ituy; ntf;lh; jLg;g+rp 
a. 1 N[hb   b. 2 N[hbfs;   c. 3 N[hbfs; 
d. 4 N[hbfs;  e. tpil njhpatpy;iy 
 

136. Tamil Nadu State has which of the following policy/policies? 
1. Tamil Nadu R and D Policy 
2. Tamil Nadu Life Sciences Promotion Policy  
3. Tamil Nadu Footwear and Leather Products Policy 
4. Tamil Nadu Fintech Policy 
a. 1, 3 and 4   b. 1 and 3   c. 1, 2 and 3 

d. 1, 2 and 4   e. Answer not known 
jkpo;ehL khepyk; gpd;tUk; nfhs;if/nfhs;iffspy; vij ngw;Ws;sJ? 
1. jkpo;ehL R kw;Wk; D ghyprp 
2. jkpo;ehL Life Sciences Promotion ghypdp 
3. jkpo;ehL fhyzp kw;Wk; Njhy; nghUl;fs; ghyprp 
4. jkpo;ehL /gpd;nlf; ghyprp 
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a. 1> 3 kw;Wk; 4  b. 1 kw;Wk; 3   c. 1> 2 kw;Wk; 3 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 

 
137. Which of the following are correctly paired? 

i. New India and Commonweal - Mrs. Annie Besant 
ii. Kesari and Maratha   - Bala Gangadhar Tilak 
iii. Indian Opinion   - Gopal Hari Deshmukh 
iv. Indu Prakash    - Mahatma Gandhi 
a. i and ii   b. i, and iv   c. i and iii 
d. iii and iv   e. Answer not known 
gpd;tUtdtw;wpy; vit rhpahfg; nghUe;jpAs;sd? 
i. epa+ ,e;jpah kw;Wk; fhkd;tPy; - jpUkjp. md;dpngrd;l; mk;ikahh; 
ii. Nfrhp kw;Wk; kuhj;jh  - ghyfq;fhju jpyfh; 
iii. ,e;jpah; fUj;J   - Nfhghy; `hp Nj~;Kf; 
iv. ,e;J gpufh];    - kfhj;kh fhe;jp 
a. i kw;Wk; ii   b. i kw;Wk; iv    c. i kw;Wk; iii 
d. iii kw;Wk; iv  e. tpil njhpatpy;iy 
 

138. What are the pillar of block chain technology? 
1. Transparency  2. Immutability  3. Decentralisation 
a. 1 and 2   b. 1 and 3    c. 2 and 3   
d. 1, 2 and 3   e. Answer not known 
g;shf; nrapd; nlf;dhy[papd; J}z;fs; vit? 
1. ntspg;gilj;jd;ik 2. khWjy; ,y;yhjJ 3. gutyhf;Fjy; 
a. 1 kw;Wk; 2   b. 1 kw;Wk; 3    c. 2 kw;Wk; 3 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

139. Which of the following act was described by Jawaharlal Nehru as the ‘Charter of Slavery’? 
a. Government of India Act of 1909  b. Government of India Act of 1919 
c. Government of India Act of 1935  d. Government of India Act of 1947 
e. Answer not known 
fPo;f;fhZk; rl;lq;fspy; vJ mbikfspd; gl;lak; vd [t`h;yhy; NeUtpdhy; tpthpf;fg;gl;lJ? 
a. ,e;jpa murhq;fr; rl;lk; 1909   b. ,e;jpa murhq;fr; rl;lk; 1919 
c. ,e;jpa murhq;fr; rl;lk; 1935   d. ,e;jpa murhq;fr; rl;lk; 1947 
e. tpil njhpatpy;iy 
 

140. The steps adopted in the long term conservation strategy of wild life is/are 
i. Hunting should be strictly prohibited in the nation parks, sanctuaries, biosphere reserves 
ii. More national parks and wild life sanctuaries should be established 
iii. Captive breeding of wildlife should not be encouraged 
a. i only   b. ii and iii only  c. i and ii only 

d. i and iii only  e. Answer not known 
td tpyq;Ffisg; ghJfhf;Fk; ePz;l fhy topKiwfspd; njhlh; mk;rq;fs; vd;git 
i. Njrpa g+q;fhf;fs;> ruzhyaq;fs;> caph;f;Nfhs fhg;gfq;fs; Mfpatw;wpy; Ntl;ilahLtJ 

jil nra;ag;gl Ntz;Lk; 
ii. NkYk; Njrpa g+q;fhf;fs; kw;Wk; tdtpyq;F ruzhyaq;fs; epWtg;gl Ntz;Lk; 
iii. tdtpyq;Ffspd; rpiwg;gl;l ,dg;ngUf;fj;ij Cf;Ftpf;ff;$lhJ 
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk;  d. i kw;Wk; ii kl;Lk;  
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d. i kw;Wk; iii kl;Lk;  e. tpil njhpatpy;iy 
 

141. Which of the following statements about the citizenship Amendment Act, (CAA) 2019 are true? 
1. Citizenship will be granted to all the foreigners who lived in India for more than six years 
2. Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or Christian Communities 

from Afghanistan, Bangladesh and Pakistan who entered India on or before 31 Dec, 2014 
3. Members of specific communities will be granted citizenship within 6 years instead of 12 

years 
4. The CAA will help to the preparation of National Register of Citizens 
a. 1 and 2 are true  b. 2 and 4 are true  c. 3 and 4 are true 
d. 2 and 3 are true  e. Answer not known 
FbAhpik jpUj;jr; rl;lk; (CAA) 2019 gw;wpa gpd;tUk; $w;Wfspy; vJ/vit cz;ikahdit? 
1. ,e;jpahtpy; 6 Mz;LfSf;F Nky; tho;e;j midj;J ntspehl;bdUf;Fk; FbAhpik 

toq;fg;gLk; 
2. Mg;fhdp];jhd;> gq;fshNj~; kw;Wk; ghfp];jhdpy; ,Ue;J te;J 31 brk;gh; 2014f;F Kd; 

,e;jahtpw;Fs; Eioe;j ,e;Jf;fs;> rPf;fpah;fs;> ngsj;jh;fs;> i[dh;fs;> ghh;rpfs; my;yJ 
fpwp];Jt r%fq;fspd; cWg;gpdh;fSf;F FbAhpik  

3. Fwpg;gpl;l r%fq;fisr; Nrh;e;jth;fSf;F 12 Mz;LfSf;F gjpyhf 6 Mz;LfSf;Fs; 
FbAhpik toq;fg;gLk;. 

4. Fbkf;fspd; Njrpa gjpNtl;il jahhpg;gjpy; CAA cjTk; 
a. 1 kw;Wk; 2 rhp   b. 2 kw;Wk; 4 rhp   c. 3 kw;Wk; 4 rhp 
d. 2 kw;Wk; 3 rhp   e. tpil njhpatpy;iy 
 

142. Find the mismatched answer about the Indian Railway Zones 
a. Southern   - Chennai 
b. Central  - Jaipur 
c. Northern  - New Delhi 
d. Eastern  - Kolkata 
e. Answer not known 
gpd;tUdtw;Ws; ,e;jpa uapy;Nt kz;lyk; Fwpj;J jtwhfg; nghUj;jg;gl;Ls;s tpiliaf; 
fhz;f 
a. njw;F  - nrd;id 
b. kj;jpagFjp - n[a;g+h; 
c. tlf;F  - GJ jpy;yp 
d. fpof;F  - nfhy;fj;jh 
e. tpil njhpatpy;iy 

 
143. __________ was the contemporary of Emepror Akbar in England 

a. King John   b. Queen Elizabeth-I  c. Queen Victoria 
d. King Charles II  e. Answer not known 
mf;gh; fhyj;jpy; ,q;fpyhe;ij Ml;rp nra;jth; 
a. kd;dd; [hd;     b. Kjyhk; ,uhzp vyprngj;   
c. ,uhzp tpf;Nlhhpa     d. murh; ,uz;lhk; rhh;y];  
e. tpil njhpatpy;iy 
 

144. Meadows Taylor observes that the death of _________ was ‘the beginning of the end’ of the 
Bahmani Kingdom 
a. Mahmud Gawan  b. Ahmad Shah  c. Mahmud Shah    
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d. Humayun   e. Answer not known 
nkNlh]; nla;yh; _______ d; kuzk; gh ;̀kdp Ml;rpapd; Kbtpd; Muk;gk; vd;W fUjpdhh; 
a. k ;̀kj; fthd;  b. m`;kj; ~h  c. k ;̀kj; ~h 
d. `{kha+d;   e. tpil njhpatpy;iy 
 

145. Match the following 
A. Garo   1. Assam 
B. Kuki   2. Mizoram 
C. Todas   3. Tamil Nadu 
D. Miri   4. Arunachal Pradesh 
 A B C D 
a. 2 4 1 3 
b. 1 2 4 3 
c. 1 2 3 4 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf 
A. fhNuh  1. m];]hk; 
B. $fp  2. kpNrhuk; 
C. Njhlh;  3. jkpo;ehL 
D. kphp   4. mUzhr;ryg;gpuNjrk; 
 A B C D 
a. 2 4 1 3 
b. 1 2 4 3 
c. 1 2 3 4 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

146. Choose the correct match 
1. Ariz-I-Mumalik   - Minister for Defence 
2. Mushrif-I-Mumalik  - Accountant General 
3. Dabir-I-Mumalik  - Minister for public grievance 
4. Mustaufi-I-Mumalik  - Auditor General 
a. 1, 2 and 3 only   b. 2, 3 and 4 only   c. 1, 2 and 4 only 
d. 1, 3 and 4 only   e. answer not known 
rhpahfg; nghUe;jpatw;iw Njh;f 
1. mhp~;-I-Kkhypf;  - ghJfhg;G mikr;rh; 
2. K~;hpg;-I-Kkhypf;  - jiyikf; fzf;fhsh; 
3. jhgph;-I-Kkhypf;  - nghJkf;fs; FiwjPh;g;G mikr;rh; 
4. K~;jt;gp-I-Kkhypf;  - jiyikj; jzpf;ifahsh; 
a. 1> 2 kw;Wk; 3 kl;Lk;  b. 2> 3 kw;Wk; 4 kl;Lk;   c. 1> 2 kw;Wk; 4 kl;Lk; 
d. 1> 3 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

147. Which constitutional amendment incorporated Puducherry in the Union of India? 
a. Tenth    b. Twelfth    c. Fourteenth 
d. Twenty second   e. Answer not known 
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ve;j murikg;Gj; jpUj;jk; GJr;Nrhpia ,e;jpa xd;wpaj;jpy; Nrh;j;jJ? 
a. gj;jhtJ    b. gd;dpuz;lhtJ  c. gjpdhd;fhtJ 
d. ,Ugj;jpapuz;lhtJ  e. tpil njhpatpy;iy 
 

148. Arrange in chronological order 
1. Sarkaria Commission  2. Balwantrai Mehta Committee 
3.Rajamannar Committee  4. Administrative Reforms Commission 
a. 2, 3, 1, 4   b. 2, 4, 3, 1   c. 2, 4, 1, 3 
d. 4, 2, 3, 1   e. Answer not known 
fPo; cs;stw;iwf; fhythpirg;gLj;Jf 
1. rh;f;fhhpah Mizak;  2. gy;te;j;uha; Nkj;jh FO 
3. uh[kd;dhh; FO   4. eph;thf rPh;jpUj;j Mizak; 
a. 2, 3, 1, 4   b. 2, 4, 3, 1   c. 2, 4, 1, 3 
d. 4, 2, 3, 1   e. tpil njhpatpy;iy 
 

149. Which of the following statement(s) is true about the union territories of India? 
1. From 26th Jan 2020, Dadra and Nagar Haveli and Daman and Diu are combined to a single 

territory. 
2. Articles 239 to 241 in Part VII of the constitution deal with union territories 
3. The two union territories from the former state of Jammu and Kashmir are Ladakh and 

Jammu and Kashmir 
4. The largest union territory of India is Andaman and Nicobar Islands 
a. 1, 2 and 4 are correct   b. 1 and 3 are correct 
c. 2 and 4 are correct   d. 2, 3 and 4 are correct 
e. Answer not known 
,e;jpahtpd; a+dpad; gpuNjrq;fisg; gw;wpa gpd;tUk; $w;Wfspy; vJ cz;ik? 
1. 26 [dthp 2020 Kjy; jhj;uh kw;Wk; ehfh;`Ntyp kw;Wk; lhkd; kw;Wk; ila+ Mfpait xNu 

gpuNjrkhf ,izf;fg;gl;Ls;sd. 
2. murpayikg;gpd; VII gFjpapy; cs;s 239 Kjy; 241 tiuapyhd gphpTfs; a+dpad; 

gpuNjrq;fs; njhlh;ghdit 
3. Ke;ija khepykhd [k;K kw;Wk; fh~;kPhpd; ,uz;L a+dpad; gpuNjrq;fs;> ylhf; kw;Wk; 

[k;K kw;Wk; fh~;kPh; MFk; 
4. ,e;jpahtpd; kpfg;nghpa a+dpad; gpuNjrk; me;jkhd kw;Wk; epf;Nfhghh; jPTfs; 
a. 1> 2 kw;Wk; 4 rhp  b. 1 kw;Wk; 3 rhp  c. 2 kw;Wk; 4 rhp 
d. 2> 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
 

150. Choose the correct answer: 
 The fundamental rights have been described as 

 i. The Magna Carta of India 

 ii. The Conscience of the Constitution 

 iii. The soul of the constitution 

 iv. Inspiration from bill of rights of American constitution 

 a. (i) and (ii) only   b. (ii) and (iii) only 

 c. (i) and (iii) only  d. (i), (ii), (iii) and (iv) 

 e. Answer not known 
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fPNo cs;stw;wpypUe;J rhpahd gjpiy Njh;e;njLf;fTk;. mbg;gil chpikfs; ,t;thwhf 
tpthpf;fg;gLfpwJ  
i. ,e;jpa kf;fspd; chpikfspd; rhrdk;  
ii. murpayikg;gpd; kdrhl;rp  
iii. murpayikg;gpd; Md;kh  
iv. mnkhpf;f murpayikg;gpd; chpikfs; kNrhjhtpd; cj;Ntfk;   
a. i kw;Wk; ii kl;Lk;   b. ii kw;Wk; iii kl;Lk;  
c. i kw;Wk; iii kl;Lk;   d. i, ii, iii kw;Wk; iv  
e. tpil njhpatpy;iy  
 

151. Match the following: 
   Committee      Year 
 A.  Goswami committee on electoral reforms   1.  1993 
 B. Vohra committee report      2.  1998 
 C. Indrajit Gupta committee on state funding 
         of Elections        3.  2008 
 D. The second administrative Reforms Commission  4.  1990 
  A B C D   
 a.  1 2 3  4 
 b.  3 2 1  4 
 c. 2 4 3  1 
 d.  4 1 2  3 
 e.  Answer not known 

fPo;f;fhz;gtw;iwg; nghUj;Jf:  
FO           Mz;L  

A. Njh;jy; rPh;jpUj;jq;fs; njhlh;ghd Nfh];thkp FO     1. 1993 

B. Nthuh FO mwpf;if         2. 1998 

C. murpd; epjpaspg;G %ykhfj; Njh;jy;fs; gw;wpa ,e;jpu[pj; Fg;jh FO 3. 2008 

D. ,uz;lhtJ eph;thfr; rPh;jpUj;j Mizak;      4. 1990 

A B C D 
a.  1 2 3 4 
b.  3 2 1 4  
c.  2 4 3 1 
d.  4 1 2 3 
e. tpil njhpatpy;iy 
 

152. The process of establishment of an organisation in a new habitat is known as 
 a.  Ecesis    b.  Migration    c.  Immigration  
 d.  Coaction    e.  Answer not known   

xh; caphp jdJ Gjpa thoplj;jpy; jd;id tphpTgLj;Jk; nray; vd;gJ  
a. epiyg;gLj;Jjy;    b. Gyg;ngah;r;rp    c. Fbapwf;fk;  
d. rftpid    e. tpil njhpatpy;iy  

 
153. Which of the following characteristics of science is not true? 

i. It is guided by natural law 
ii.  It is testable against the observable world 
iii. It’s conclusions are permanent 
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iv. It is falsifiable 
 a. (ii) (iii) and (iv)only  b. (iii) and (iv) only   c. (iii) only    
 d. (iv) only     e. Answer not known 

mwptpaypd; gpd;tUk; gz;Gfspy; vJ cz;ikay;y? 
i. ,J ,aw;if rl;lj;jhy; top elj;jg;gLfpwJ. 
ii. ,J fhzf;$ba cyfj;jpw;F vjpuhf Nrhjpf;ff;$baJ  
iii. ,jd; KbTfs; epue;jukhdit  
iv. ,J ngha;ahf;ff; $baJ  
a. ii, iii kw;Wk; iv kl;Lk;   b. iii kw;Wk; iv kl;Lk;   c. iii kl;Lk;     
d. iv kl;Lk;    e. tpil njhpatpy;iy 

 
154. Assertion (A): Critical thinking focuses on what causes a belief 

 Reason (R):  Critical thinking entails evaluation and formulation and it operates 
     according to rational standards in that beliefs are judged by how well they 
     are supported by reasons. 

a. A is true but R is false 
b. A is false but R is true 
c. Both A and R are true, R is the correct explanation of A 
d. Both A and R are true, and R is not the correct explanation of A. 
e. Answer not known 
$w;W (A): ca;a rpe;jid> xU ek;gpf;ifia Vw;gLj;Jtjpy; Kf;fpa fhuzkhf 

        mikfpwJ.  
fhuzk;(R): ca;a rpe;jid vd;gJ kjpg;gPL kw;Wk; cUthf;fk; Mfpatw;iw  
   cs;slf;fpaJ kw;Wk; mJ gFj;jwpT ju epiyfspd;gb  
   nray;gLfpwJ. me;j ek;gpf;iffs; fhuzq;fshy; vt;tsT rpwg;ghf  
   Mjhpf;fg;gLfpd;wd vd;gjd; %yk; jPh;khdpf;fg;gLfpwJ.  
a. A rhp> Mdhy; R jtW  
b. A jtW> Mdhy; R rhp  
c. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;  
d. A kw;Wk; R ,uz;Lk; rhp> kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy  

 
155. If ZEBRA can be written as 2652181. How can COBRA be written? 

 a.  3102181    b.  3152181   c.  3182215    
d. 3182181    e.  Answer not known 
ZEBRA it 2652181 vd vOjyhk; vd;why; COBRA vg;gb vOjg;gLk;?  
a. 3102181    b. 3152181   c. 3182215    
d. 3182181    e. tpil njhpatpy;iy  

 
156. The instrument used to measure the atmospheric ozone concentration is 
 a.  Dobsonmeter   b.  Barometer   c.  Hygrometer 

d.  Anemometer   e.  Answer not known 
tspkz;lyj;jpy; cs;s XNrhd; mlh;j;jpia mstpl cgNahfpf;Fk; fUtp  
a. Nlhg;Nrhd; kPl;lh;   b. gNuh kPl;lh;   c. i`f;Nuh kPl;lh;    
d. mdpNkh kPl;lh;    e. tpil njhpatpy;iy  
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157. Which among the following is/are wrong about a fertilizer? 
i. Fertilizer must be insoluble in water 
ii. It should maintain the pH of 10 to 13 
iii. It should not be poisonous to plants 

 a.  only iii   b.   i and ii    c.  i, ii, iii    
d.  only ii   e.  answer not known 
fPo;f;fhZk; $w;Wfspy; cuq;fs; Fwpj;j jtwhd $w;W vJ?  
i. cuq;fs; ePhpy; fiuahJ ,Uj;jy; Ntz;Lk;  
ii. cuq;fs; 10 Kjy; 13pH I guhkhpj;jy; Ntz;Lk;  
iii. cuq;fs; jhtuq;fSf;F er;Rf;fshf ,Uj;jy; $lhJ  
a. iii kl;Lk;   b. i kw;Wk; ii    c. I, ii kw;Wk; iii    
d. ii kl;Lk;    e. tpil njhpatpy;iy  
 

158. Which of the following statement is correct about the aim of Pradhan Mantri Uijwala Yojana 
(PMUY) 
a. to provide Health Service and Clean Environment to Rural Women 
b.  to provide clean energy fuel of liquified petroleum gas to all rural households 
c. to provide clean water and environment 
d. to provide quality food and health 
e. Answer not known 
gpujk ke;;jphpapd; c[thyh Nah[dh jpl;lj;jpd; (PMUY) ,d; Kf;fpa Nehf;fj;ijg; gw;wp 
gpd;tUk; $w;Wfspy; ve;j xd;W rhpahdJ?  
a. Rfhjhur; Nrit kw;Wk; Rj;jkhd Rw;Wr;#oiy fpuhkg;Gw kfspUf;F toq;f Ntz;Lk;.  
b. midj;J fpuhkg;Gw tPLfSf;Fk; jputkhf;fg;gl;l Rj;jkhd ngl;Nuhypa thA Mw;wy; 

vhpnghUis toq;Fjy;  
c. Rj;jkhd jz;zPh; kw;Wk; Rw;Wr;#oiy toq;f Ntz;Lk;. 
d. Rj;jkhd czT kw;Wk; Rfhjhuj;ij toq;f Ntz;Lk;.  
e. tpil njhpatpy;iy  

 
159. What are the Forms of Central Bank Digital Currency (CBDC) proposed to be introduced by 

RBI? 
 1.  Account-based   2.  Token based 
 a.  1 only    b.  2 only   c.  1 and 2    

d.  neither 1 nor 2   e.  answer not known 
,e;jpa hprh;t; tq;fp mwpKfg;gLj;j cs;s ika tq;fpapd; nka;epfh; kpd;dZ gzj;jpd; 
mikg;Gfs; vt;thwhdit?  
1. tq;fpf; fzf;F mbg;gilapyhdJ  
2. milahs tpy;iy  
a. 1 kl;Lk;     b. 2 kl;Lk;   c. 1 kw;Wk; 2    
d. 1 k; ,y;iy 2k; ,y;iy  e. tpil njhpatpy;iy  

 
160. Which among the following is/are not associated with “Catch the Rain” campaign? 

i. The campaign is launched by National Water Mission 
ii. The campaign drives to make check dams and water harvesting pits 
iii. The campaign stresses the removal of obstructions in the canals 
iv. The campaign requested the central institutions to open rain centres to guide people to 

harvest rain 
 a.  i only   b.  ii and iii only   c.  i and ii only   
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d.  iv only   e. Answer not known 
gpd;tUtdtw;Ws; ,af;fj;Jld;; njhlh;gpy;yhjJ vJ?  
i. ,e;j ,af;fkhdJ Njrpa ePH; gzpahy; njhlq;fg;gl;lJ  
ii. ,e;j ,af;fkhdJ> jLg;gizfs; kw;Wk; ePh; Nrfhpg;G FO eltbf;iffis mikf;fpwJ.  
iii. fhy;tha;fspy; cs;s jilfis mfw;w ,e;j ,af;fk; typAWj;JfpwJ.  
iv. kio ePh; Nrkpf;f kf;fSf;F topfhl;l kio ikaq;fis jpwf;FkhW ,e;j   ,af;fk; 

kj;jpa epWtdq;fis Nfl;Lf; nfhz;Ls;sJ.  
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk;   c. i kw;Wk; ii kl;Lk;  
d. iv kl;Lk;    e. tpil njhpatpy;iy  

 
161. The abbreviated term VVPAT stands for 
 a.  Voter Visit Poll Account Trail  b.   Voter Visit Press Audit Trail 
 c.  Voter Verifiable Paper Audit Trail d.  Voter Verifiable Paper Account Trail 
 e.  Answer not known 

VVPAT vDk; RUf;fg;gl;lr; nrhy; Fwpg;gJ  
a. thf;fhsh; tUif thf;nfLg;G eilKiw  
b. thf;fhsh; njspthd gj;jphpf;if jzpf;if eilKiw  
c. thf;fhsh; rhpghh;f;ff;$ba fhfpjj; jzpf;if eilKiw  
d. thf;fhsh; rhpghh;f;ff;$ba fhfpjf; fzf;F eilKiw  
e. tpil njhpatpy;iy 
 

162. Assertion (A) : The desert region of India can be divided into two parts – “The great 
    desert” and “the little desert”. 
Reason (R): Between these two deserts lies a zone consisting of rocky land and cut up 

by limestone ridges. 
a. A is true but R is false 
b. Both A and R are true, and R is the correct explanation of A 
c. A is false, R is true 
d. Both A and R are true, but R is not the correct explanation of A 
e. Answer not known 
$w;W (R): ,e;jpahtpd; ghiytdg; gFjpia ,uz;L gFjpfshfg; gphpf;fyhk; “nghpa 
   ghiytdk;’ kw;Wk; ‘rpwpa ghiytdk;’ 
fhuzk; (R): ,e;j ,U ghiytdq;fSf;fpilNa ghiw epyk; kw;Wk; Rz;zhk;Gf; fy; 
   KfLfshy; ntl;lg;gl;l xU kz;lyk;l cs;sJ.  
a. A $w;W rhp Mdhy; R fhuzk; jtW  
b. A $w;W kw;Wk; R fhuzk; ,uz;Lk; rhp> kw;Wk; A $w;Wf;fhd R fhuzk; rhp 
c. A $w;W jtW> R fhuzk; rhp 
d. A $w;W kw;Wk; R fhuzk; ,uz;Lk; rhp> Mdhy; A $w;Wf;fhd fhuzk; R jtW  
e. tpil njhpatpy;iy  

 
163. Which of the following is responsible for protecting humans from harmful ultraviolet rays? 
 a.  UV-A       b.   UV-C 
 c.  Ozone layer      d.  None of the above 
 e.  Answer not known 

jPq;F tpistpf;Fk; Gw Cjhf; fjph;fspy; ,Ue;J kdpjh;fisg; ghJfhg;gJ gpd;tUtdw;wpy; vJ?  
a. UV – A       b. UV - C 
c. XNrhd; glyk;      d. Nky; cs;sit my;y  

e. tpil njhpatpy;iy 
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164. M. Visvesvaraya’s birthday is celebrated as Engineer’s Day in India. He was the Dewan of 

which Princely state? 
 a.  Hyderabad   b.  Jodhpur    c.  Mysore    

d.  Gwalior    e.  Answer not known 
M. tp];Nt];tua;ahtpd; gpwe;jehs; ,e;jpahtpd; nghwpahsh; jpdkhff; nfhz;lhlg;gLfpwJ. mth; 
ve;j rk];jhdj;jpd; jpthdhf ,Ue;jhh;?  
a. i`juhghj;   b. N[hj;G+h;    c. ik#h;    

 d. Fthypah;    e. tpil njhpatpy;iy  
 
165. Read the following passage and answer the item that follows: 

Agriculture continues to be the backbone of the state economy, as it provides  livelihood 
security and food security.  The overall crop yields in the state is  bright.  The South West 
monsoon rainfall was normal and its even distribution  helped to recharge of 
groundwater considerably and kept the state with  adequate storage.  All these factors made 
the irrigation scenario in the state  encouraging.  As a result more area was brought 
under cultivation.  The  government also provided adequate and timely supply of inputs 
through its  agricultural extention centres.  Sufficient and timely crop loans were made 
available for the eligible farmers through primary Agricultural Cooperative  Societies. 

 Which of the following is best implied in the passage? 
a. Agriculture of the state still remain a lifeline for the people 
b. Due to proper rainfall and government effort to provide agricultural loan and inputs 

agriculture turned prosperity. 
c. Primary agricultural cooperative banks play a crucial role in agricultural development. 
d. Over exploitation of ground water to agricultural sector will affect the growth of other 

sectors.  
e. Answer not known 
gpd;tUk; gj;jpiag; gbj;J mij njhlh;e;J tUk; tpdhtpw;F tpilasp.  
khepyg; nghUshjhuj;jpd; KJnfYk;ghf Ntshz;ikNa njhlh;e;J cs;sJ. ,J tho;f;ifj; 
njhopy; ghJfhg;igAk; kw;Wk; czTg; ghJfhg;igAk; mspf;fpwJ. khepyg; gaph; tpisr;ry; 
gpufhrkhf ,Uf;fpwJ. njd;Nkw;Fg; gUtkiog; nghopT ,ay;ghfTk; midj;Jg; gFjpfspYk; 
rkkhf ,Ue;jjhy; epyj;jb ePh; Fwpg;gplj;jf;f msT kPs epuk;gpaJ. NkYk; khepyj;jpy; Nghjpa 
msT ePH; ,Ug;G ,Ue;jJ. ,itaidj;Jf; fhuzpfSk; Nrh;e;J ePh;ghrd #oiy 
Cf;fg;gLj;jpaJ. ,jd; tpisthf mjpf epyq;fs; gaphplg;gl;ld. muRk; Nghjpa Ntshz; 
cs;sPLfisr; rhpahd Neuj;jpy; Ntshz; tphpthf;f ikaq;fs; %yk; toq;fpd. NghjpasT 
gaph;f;fld; rhpahd Neuj;jpy; jFjpAs;s tptrhapfSf;Fj; njhlf;f Ntshz; $l;LwT rq;fq;fs; 
%yk; fpilf;f tif nra;ag;gl;lJ.  
gpd;tUk; ve;jr; nrhw;nwhlh; NkNy cs;s gj;jpapd; cl;fUj;ijr; rpwg;ghf ntspf;nfhzh;fpwJ?  
a. khepy Ntshz;ikNa kf;fSf;F ,d;Wk; caph;g;ghijahf cs;sJ 
b. rhpahd kiog;nghopthYk;> Ntshz; cs;sPLfs; kw;Wk; fld; toq;fpa murpd; Kaw;rpahYk; 

Ntshz;ik nropg;gile;Js;sJ  
c. Ntshz; mgptpUj;jpapy; njhlf;f Ntshz; $l;LwT tq;fpfs; Kf;fpa gq;F tfpf;fpd;wd.  
d. Ntshz;ikf;F epyj;jb ePiu kpifahfg; gad;gLj;JtJ gpw Jiwfspd;  tsh;r;rpiag; 

ghjpf;Fk;  
e. tpil njhpatpy;iy  
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166. Which is/are the provision inserted in the Central Universities (Amendment) Act, 2022 
1. Establishment of Gati Shakti Vishwa vidyala 
2. Providing high quality teaching, research and skill development in diverse disciplines 

related to physical sciences  
3. Upgradation of State Universities to Central Universities 
4. Providing high quality teaching, research and skill development in diverse disciplines 

related to transportation, technology and management. 
 a.  1 and 2   b.  2 and 3   c.  1 and 3 
 d.  1 and 4   e.  answer not known 

kj;jpag; gy;fiyf;fofq;fs; (jpUj;jk;) rl;lk;> 2022 y; Nrh;f;fg;gl;l ruj;Jf;fs; vJ?  
1. fjp rf;jp tp~;ttpj;ayh epWtg;gly;  
2. ,aw;gpay; mwptpay; njhlh;ghd gy;NtW Jiwfspy; cah;ju fw;gpj;jy;> Muha;r;rp kw;Wk; 

jpwd;Nkk;ghL Mfpatw;iw toq;Fjy;  
3. khepyg; gy;fiyf;fofq;fis kj;jpag; gy;fiyf;fofq;fshfj; juk; cah;j;Jjy;  
4. Nghf;Ftuj;J njhopy; El;gk; kw;Wk; Ntshz;ik njhlh;ghd gy;NtW Jiwfspy; cah;ju 

fw;gpj;jy; Muha;r;rp kw;Wk; jpwd; Nkk;ghl;il toq;Fjy;  
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3    
d. 1 kw;Wk; 4   e. tpil njhpatpy;iy  
 

167. Assertion A: When price decreases, purchasing power increases, and vice versa 
 Reason R:  When the production of goods decline, the price of goods increases and then the 
    purchasing power is affected. 

a. A is correct and R is false 
b. Both A and R are false statement 
c. A is correct but R is not a correct explanation 
d. A is correct, R is the correct explanation of A. 
e. Answer not known 
$w;W (A): tpiy Fiwe;jhy; thq;Fk; rf;jp mjpfhpf;fpwJ kw;Wk; ,J Neh;khwhdJ 
fhuzk; (R):  nghUspd; cw;gj;jp Fiwe;J> tpiy mjpfhpg;gjhy; thq;Fk; jpwd; ghjpf;fg;gLfpwJ. 
a. A $w;W rhpahdJ> R fhuzk; jtwhdJ  
b. A $w;W kw;Wk; R fhuzk; ,uz;Lk; jtwhdJ  
c. A $w;W rhpahdJ> Mdhy; R fhuzk; rhpahd tpsf;fk; my;y 
d. A $w;W rhpahdJ> R fhuzk; $w;W A d; rhpahd tpsf;fk;  
e. tpil njhpatpy;iy  
 

168. Match the following: 
 Chairman    Committee 
 A.  Kaka Kaleekar   1.  Tribal Development 
 B.  Xaxa    2.  7th pay commission 
 C.  Mandal    3.  Second backward class commission 
 D.  Justice A.K. Mathur  4.  First backward class commission 
  A B C D   
 a.  1 3 4  2 
 b.  4 1 3  2 
 c. 1 4 3  2 
 d.  3 2 4  1 
 e. Answer not known 
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fPo;f;fz;ltw;iwg; nghUj;Jf:  
jiyth;     FO  

 A. fhfh fNyfh;   1. goq;Fbapdh; Kd;Ndw;wk;  
 B. rhf;rh    2. 7tJ Cjpaf; FO  
 C. kz;ly;    3. ,uz;lhtJ gpw;gLj;jg;gl;Nlhh; FO  
 D. [];b]; A.K. khj;J}h;  4. KjyhtJ gpw;gLj;jg;gl;Nlhh; FO  
  A B C D 

a.  1 3 4 2 
b.  4 1 3 2  
c.  1 4 3 2  
d.  3 2 4 1  
e. tpil njhpatpy;iy  

 
169. Arrange the following events associated with Periyar in chronological order: 

 1.  Vaikkom Satyagraha 
 2.  Non-Co-operation Movement 
 3.  Kallukadai Mariyal 
 4.  Leader of Chennai Congress Committee 
 a.  2, 3, 4, 1   b.  2, 4, 3, 1    c. 2, 1, 3, 4   

d.  4, 2, 3, 1   e. Answer not known 
nghpahUld; rk;ge;jg;gl;l epfo;Tfisf; fhy thpirg;gb thpir gLj;jTk;  
1. itf;fk; rj;jpahfpufk;  
2. xj;Jioahik ,af;fk;  
3. fs;Sf;fil kwpay;  
4. nrd;id fhq;fpu]; fkpl;b jiyth;  
a. 2, 3, 4, 1    b. 2, 4, 3, 1     c. 2, 1, 3, 4     
d. 4, 2, 3, 1   e. tpil njhpatpy;iy  

 
170. Choose the correct chronological order: 

a. Rajadhiraja I, Parantaka I, Kulothunga I, Rajaraja I 
b. Kulothunga I, Parantaka I, Rajadhiraja I, Rajaditya I 
c. Parantaka I, Rajadhiraja I, Kulothunga I, Rajaraja I 
d. Parantaka I, Rajaraja I, Rajadhiraja I, Kulothunga I 
e. Answer not known 
fhy thpirg;gb rhpahdtw;iw Njh;e;njL / Kiwg;gLj;Jf:  
a. ,uh[hjpuh[d; I, guhe;jfd; I> FNyhj;Jq;fd; I> ,uh[uh[d; I  
b. FNyhj;Jq;fd; I> guhe;jfd; I> ,uh[hjpuh[d; I> ,uh[hjpj;jpah I  
c. guhe;jfd; I> ,uh[hjpuh[d; I> FNyhj;Jq;fd; I> ,uh[uh[d; I  
d. guhe;jfd; I> ,uh[uh[d; I> ,uh[hjpuh[d; I> FNyhj;Jq;fd; I 
e. tpil njhpatpy;iy 

 
171. Who said, “Tamizhodu Isaippaadal Maranthariyen”? 

 a.  Thirugnana Sambandar  b.  Thirunaavukkarasar  c.  Sundarar   
 d.  Manikkavasagar   e.  Answer not known 

“jkpNohL ,irg;ghly; kwe;jwpNad;” vdg; ghbath; ahh;?  
a. jpUQhd rk;ge;jh;   b. jpUehTf;furh;   c. Re;juh; 
d. khzpf;fthrfh;   e. tpil njhpatpy;iy  
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172. Which Tamil Poet injected the spirit of Nationalism and National Integration? 
 a.  Bharathidasan   b.  Bharathiyar  c.  Sudanandha Bharathi  
 d.  Kavimani    e.  Answer not known 

ve;j jkpo; ftpQh; Njrpak; kw;Wk; Njrpa xUikg;ghl;by; czh;Tfis J}z;bdhh;?  
a. ghujpjhrd;    b. ghujpahh;   c. Rjhde;j ghujp   
d. ftpkzp     e. tpil njhpatpy;iy  

 
173. What was the royal emblem of the Rashtrakutas? 

 a.  Lion    b.  Golden Eagle   c.  Tiger   
 d.  Elephant    e.  Answer not known 

uh~;bu$lh;fspd; Njrpa rpd;dk; vd;d?  
a. rpq;fk;     b. jq;f fOF   c. Gyp   
d. ahid     e. tpil njhpatpy;iy  

 
174. Match the following: 

 A.  Thaarugan   1.  Thaer Chakkaram 
 B.  Aazhi    2.  Arakkan 
 C.  Natriram    3.  Thevar 
 D.  Imaiyavar   4.  Araneri 
  A B C D 

a.  1 2 3 4 
b.  2 1 4 3 
c.  3 1 2 4  
d.  4 3 2 1 
nghUj;Jf:  
A. jhUfd;    1. Njh;r;rf;fuk;  
B. Mop    2. muf;fd;  
C. ew;wpwk;     3. Njth;  
D. ,ikath;    4. mwnewp  
 A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  3 1 2 4  
d.  4 3 2 1 
e. tpil njhpatpy;iy 
 

175. Which among the following Inscriptions mention the ancient word ‘Madura’? 
 A.  Inscription at Siddharmalai 
 B.  Inscription at Alagarmalai 
 C.  Inscription at Mamandur 
 D.  Inscription at Paatipuralu 
 a.  A and B only  b.  A and C only  c. B and D only 

d. C and D only  e.  Answer not known 
gpd;tUk; fy;ntl;Lfspy; ve;jf; fy;ntl;by; ‘kJuh’ vd;Dk; goikahd nrhy; 
Fwpg;gplg;gl;Ls;sJ?  

A. rpj;jh;kiy fy;ntl;L  

B. mofh;kiy fy;ntl;L 
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C. khkz;^h; fy;ntl;L  
D. ghj;jpGuY fy;ntl;L  

a.  a kw;Wk; b kl;Lk;  b.  a kw;Wk; c kl;Lk;  c.  b kw;Wk; d kl;Lk;   

d.  c kw;Wk; d kl;Lk;  e. tpil njhpatpy;iy  
 
176. Read the following and pick out the correct statements: 

i. Musical Pillars is one of the wonders of the Nayakka King’s Rule 
ii. Music created by rhythmic hitting of stones is wondered by International Musicians 
iii. In the Thousand Pillared Hall of Meenakshi Temple in Madurai, one can find small 

pillars that exude music when played upon 
iv. The Arthanaareeswara Temple at Rameshwaram consists of Pillars than can be played to 

bring out the seven swaras (Notes) 
 a.  i and ii alone are correct    b.  i, ii, and iii alone are correct 

 c.  i, ii, iii and iv all are correct   d.  i, ii, and iv alone are correct 
 e.  Answer not known  

gpd;tUk; njhliug; gbj;Jr; rhpahdijj; Njh;e;njLf;fTk;  
i. ehaf;f kd;dh;fs; Ml;rpapy; cUthd tpaj;jF mikg;G ,irj;J}z;fs; MFk;.  
ii. fy;yhy; ,iria vOg;Gk; fiyQH;fspd; iftz;zk; fz;L> gd;dhl;L  

mwpQh;fSk; tpae;J Nghw;Wfpd;wdh;.  
iii. kJiu kPdhl;rpak;kd; Nfhapypy; cs;s Mapuq;fhy; kz;lgj;jpy; gy rpW J}z;fs; 

cs;sd. ,jpy; xt;nthU rpW J}Zk; ,ir xyp vOg;Gtijf; fhzyhk;.  
iv. ,uhNk];tuk; mh;j;jehhP];tuh; Nfhapypy; cs;s J}z;fspy; VO ];tuq;fs; 

xypf;fg;gLtijf; Nfl;fyhk;.  
a. i, ii Mfpait kl;Lk; rhp    b. i, ii, iii Mfpait rhp  
c. i, ii, iii, iv midj;Jk; rhp    d. i, ii kw;Wk; iv Mfpait kl;Lk; rhp  
e. tpil njhpatpy;iy  

 
177. Find the missing number in the place of? 

1 2 3 

4 5 6 

7 8 9 

27 38 ? 

a.  49  b. 50  c. 51   d. 52  e.  Answer not known 
tpLgl;l vz;iz fhz;f.  

1 2 3 

4 5 6 

7 8 9 

27 38 ? 

a.  49  b. 50  c. 51   d. 52  e. tpil njhpatpy;iy  
  
 The next term of the Alphanumeric series C4X, F9U, I16R, is 

a. K25P b. L25P   c. L25O  d. L27P  e. Answer not known 
C4X, F9U, I16R vd;w vz;nzOj;J njhlhpy8; mLj;j cWg;G  
a. K25P b. L25P   c. L25O  d. L27P  e. tpil njhpatpy;iy  
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178. A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32 women to 
make a mat of length 512 m? 

 a.  8 days   b.  12 days    c.  16 days     
d.  20 days   e.  answer not known  
180 kP ePsKs;s xU ghapid 15 ngz;fs; 12 ehl;fspy; nra;jdh;. 512 kP ePsKs;s xU 
ghapid 32 ngz;fs; nra;a vj;jid ehl;fs; MFk;?  
a. 8 ehl;fs;   b. 12 ehl;fs;    c. 16 ehl;fs;    
d. 20 ehl;fs;   e. tpil njhpatpy;iy  
 

179. An apple costs ` 60, a guava costs ` 90 and a mango costs `60.  How much a pomegranate cost? 
 a.  ` 60   b.  ` 9     c.  ` 120     

d.  ` 150   e.  answer not known 
xU Mg;gps; (Apple) tpiy Rs. 60> xU nfha;ah (Guava) tpiy Rs. 90 kw;Wk; xU khk;gok; 
(Mango) tpiy Rs. 60. xU khJis tpiy vt;tsT? 
a. Rs. 60   b. Rs. 90    c. Rs. 120   
d. Rs. 150   e. tpil njhpatpy;iy  

 
180. In what time will ` 8,000 at 3% per annum, produce the same interest as ` 6,000 does in 5 years 

at 4% simple interest? 
 a.  5 years   b.  5 ½ years    c.  3 years    

d.  3 ½ years   e.  answer not known 
mry; &. 6>000-f;F 5 Mz;Lfspy; 4% tl;b> tPjj;jpy; fpilf;Fk; jdptl;bAk;> mry; 8>000-f;F 
3% tl;b tPjj;jpy; fpilf;Fk; jdp tl;bAk; rkkhf ,Uf;Fk; vdpy;> mjd; Mz;Lfs; 
vt;tsthf ,Uf;Fk;?  
a. 5 Mz;Lfs;  b. 5½ Mz;Lfs;    c. 3 Mz;Lfs;     
d. 3½ Mz;Lfs;   e. tpil njhpatpy;iy 
 

181. Find the HCF of the polynomials 6x3 – 30x2 + 60x – 48 and 3x3 – 12x2 + 21x – 18 
 a. (x3 – 3x + 2) (x – 1). 3  b. (x3 – 3x + 2) (x – 2). 3  c. 3 (x – 2)  
 d. (x – 2) (x  - 1) 3     e.  Answer not known 

6x3 – 30x2 + 60x – 48 kw;Wk; 3x3 – 12x2 + 21x – 18 Mfpa gy;YWg;Gf; Nfhitfspd; kP.ngh.t. 
fhz;f.  

a. (x3 – 3x + 2) (x – 1). 3  b. (x3 – 3x + 2) (x – 2). 3  c. 3 (x – 2)     
d. (x – 2) (x  - 1) 3    e. tpil njhpatpy;iy  

   
182. Simplify : 100 + 8   2 + {(3 × 2) – 6    2} 

 a.  123  b.  107  c.  113   d.  103  e.  answer not known 
RUf;Ff: 100 + 8   2 + {(3 × 2) – 6    2} 
a. 123  b. 107  c. 113   d. 103  e. tpil njhpatpy;iy  

   
183. Pick out the correct abbreviation for the word ‘PURA’? 

a. Providing urban amenities in right areas 
b. Providing usual amenities in rural areas 
c. Providing urban amenities in regional areas 
d. Provision of urban amenities in rural areas 
e. Answer not known 
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PURA vd;Dk; nrhy;ypd; rhpahd tphpthf;fj;ijj; Njh;e;njLf;f.  
a. rhpahd gFjpfspy; efh;g;Gw trjpfs; toq;Fjy;  
b. fpuhkg; gFjpfspy; tof;fkhd trjpfs; toq;Fjy;  
c. kz;lyg; gFjpfspy; efh;g;Gw trjpfs; toq;Fjy;  
d. fpuhkg;Gw gFjpfspy; efh;g;Gw trjpfis Vw;gLj;Jjy;  
e. tpil njhpatpy;iy  

 
184. Which of the following measures have been taken to attain the aims of the new industrial 

policy? 
 1.  Industrial Licensing 
 2.  Foreign Investment 
 3.  Foreign trade Policy 
 4.  Public sector management 
 a. 1 and 4 only   b. 2 and 3 only  d. 1, 2 and 4 only   

d. 1, 2, 3 and 4   e. Answer not known 
fPo;f;fz;ltw;Ws; Gjpa njhopw;nfhs;ifapd; Nehf;fq;fis miltjw;F Nkw;nfhs;sg;gl;l 
Kiwfs; ahit?  
1. njhopy; chpkk;  
2. may;ehl;L KjyPL  
3. may;ehl;L thzpgf; nfhs;if  
4. nghJ Jiw eph;thfk;  

a. 1 kw;Wk; 4 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1> 2 kw;Wk; 4 kl;Lk;    
d. 1> 2> 3 kw;Wk; 4    e. tpil njhpatpy;iy  

 
185. According to Indian Tourism Statistics 2022, which tourist place is most visited by Foreign 

tourists? 
 a.  Taj Mahal   b.  Statue of Unity   c.  Mahabalipuram    
 d.  Varanasi   e.  Answer not known 

,e;jpa Rw;Wyh Gs;sp tptuk; 2022 d; gb me;epaehl;L Rw;Wyh gazpfshy; mjpf mstpy; Rw;wp 
ghh;f;fg;gLk; Rw;Wyh jsk;  

a. jh[; k`hy;   b. ];Nll;R Mg; Aidl;b  c. k`hgypGuk; 
d. thudhrp   e. tpil njhpatpy;iy  

 
186. Which one of the following is not addressed in Mission POSHAN 2.0? 

a. Malnutrition in children 
b. Malnutrition in adolescent girls 
c. Pregnant and lactating mothers 
d. Malnutrition in elderly 
e. Answer not known 
fPo;f;fhz;gdtw;Ws; vJ Ngh~d; 2.0 jpl;lj;jpy; $wg;glhjJ?  
a. Foe;ijfspd; Cl;lr;rj;J FiwghL  
b. gjpd;k taJ ngz;fspd; Cl;lr;rj;J FiwghL  
c. fh;g;gpzpg; ngz;fs; kw;Wk; ghY}l;Lk; jha;khh;fs;  
d. taJ Kjph;e;jth;fspd; Cl;lr;rj;J FiwghL  
e. tpil njhpatpy;iy  
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187. Nehru-Mahalanobis planning model was based on the following strategies emphasised are 
 i.   High rate of saving 
 ii.  Preferred a heavy industry 
 iii. Discouraged import substitution 
 iv. Safeguard infant industry 
 a.  i and ii correct   b.  i, ii, and iii correct  c.  i, ii, and iv correct  

d.  i, ii, iii and iv correct  e.  answer not known 
NeU – kfyNehgp]; jpl;l khjphp gpd;tUk; cj;jpfis typAWj;JfpwJ. 
i. mjpf Nrkpg;G tPjk;  
ii. fduf njhopYf;F Kd;Dhpik  
iii. ,wf;Fkjp gjpyPl;L Cf;fkpd;ik 
iv . Gjpa njhopYf;F ghJfhg;G  
a. i kw;Wk; ii rhp   b. i, ii kw;Wk; iii rhp   c. i, ii kw;Wk; iv rhp 
d. i, ii, iii kw;Wk; iv rhp   e. tpil njhpatpy;iy  
 

188. Match List I and List II and select the correct answer using the codes given  below the 
Lists: 

 List I       List II 
 A.  Resignation of Congress Ministries  1.  1943 
 B.  Neil Statue Satyagraha    2.  1942 
 C.  Quit India Resolution    3.  1927 
 D.  Provincial Government of Free India  4.  1939 

  A B C D 
a.  4 3 1 2  
b.  2 1 4 3  
c.  4 3 2 1 
d.  4 1 2 3 
thpir I cld; thpir II -idg; nghUj;jp thpirfSf;Ff; fPo; nfhLf;fg;gl;Ls;s njhFg;gpYs;s 
rhpahd tpilapidj; njhpT nra;f.  

thpir I      thpir II  
 A. fhq;fpuR mikr;ruit gjtp tpyfy;  1. 1943 
 B. ePy; rpiy rj;ahfpufk;     2. 1942  
 C. nts;isaNd ntspNaW jPh;khdk;   3. 1927 
 D. Rje;jpu ,e;jpahtpd; khfhz murhq;fk;  4. 1939 
  A B C D 

a.  4 3 1 2  
b.  2 1 4 3  
c.  4 3 2 1 
d.  4 1 2 3 
e. tpil njhpatpy;iy  
 

189. Which of the following is incorrect? 
a. The Indian National Congress boycotted the First Round Table Congress 
b. Gandhiji attended the Second Round Table Congress 
c. After the Second Round Table conference the Gandhi-Irwin pact was signed 
d. Communal Award was associated with Third Round Table Conference 
e. Answer not known 



 

58 | Page  Ph: 044-24339436, 42867555, 9840226187 
 

gpd;tUtdtw;wpy; jtwhdit vit?  
a. Kjy; tl;lNkir khehl;il ,e;jpa Njrpa fhq;fpu]; Gwf;fzpj;jJ  
b. fhe;jp[p ,uz;lhtJ tl;lNkir khehl;by; gq;Nfw;whh;.  
c. ,uz;lhtJ tl;lNkir khehl;bw;F gpd;G fhe;jp - ,h;tpd; xg;ge;jk; Vw;gl;lJ  
d. fk;A+dy; mthh;L %d;whk; tl;lNkir khehNlhL njhlh;GilaJ  
e. tpil njhpatpy;iy  

 
190. ‘Damin-i-koh’ was the land given by the British to the 

 a.  Santhal tribes  b.  Kolu tribes  c.  Garo tribes 
 d.  Munda tribes  e.  Answer not known 

‘lhkpd;-,-Nfh`;’ vd;Dk; epyk; Mq;fpNyah;fshy; _______ f;F toq;fg;gl;lJ. 
a. re;jhy; goq;Fbapdh;   b. Nfhy; goq;Fbapdh; 
c. fNuh goq;Fbapdh;   d. Kz;lh goq;Fbapdh;  
e. tpil njhpatpy;iy 
 

191. Consider the statement given below and choose the correct answer: 
 Assertion A: Cultural diffusion is the spread of cultural beliefs and  social activities from one 
    group of people to another 
 Reason R: Cultural landscapes have been defined by the world heritage committee as 
    cultural properties representing the combined works of nature and of man 

a. Both A and R are true:  R explains A 
b. Both A and R are true:  R does not explain A 
c. A is true R is false 
d. A is false R is true 
e. Answer not known 
fPo;f;fhZk; thf;fpaq;fisf; fUj;jpy; nfhz;L nfhLf;fg;gl;Ls;stw;wpy; rhpahd tpiliaj; 
Njh;T nra;aTk;.  
$w;W (R):   fyhr;rhug; guty; vd;gJ fyhr;rhu ek;gpf;iffs; kw;Wk; r%f nray;ghLfs; 
    xU FOtpypUe;J kw;nwhU FOtpw;Fg; guTtjhFk;.  
fhuzk; (R):   fyhr;rhu epyj;Njhw;wk; vd;gJ “,aw;if kw;Wk; kdpjdpd; xUq;fpize;j 
    gilg;Gfisf; Fwpf;Fk; fyhr;rhu gz;Gfs;’ vd cyfg; ghuk;ghpaf; 
    FOthy; tiuaWf;fg;gl;Ls;sJ.  

a. $w;W (A) kw;Wk; R fhuzk; ,uz;Lk; rhp : $w;W A fhuzk; R f;fhd rhpahd tpsf;fk;  

b. $w;W A kw;Wk; R fhuzk; ,uz;Lk; rhp : $w;W A kw;Wk; fhuzk; R – f;fhd rhpahd 
tpsf;fky;y  

c. $w;W A rhp fhuzk; R jtW  

d. $w;W A jtW fhuzk; R rhp  

e. tpil njhpatpy;iy  
 

192. Choose the right matches 
 1.  Khizr Khan  - Orissa 
 2.  Durgavati   - Gondwana 
 3.  Rana Udai Singh  - Mewar 
 4.  Kunwar Man Singh - Ajmir 
 a.  1 and 2 are correct  b.  2 and 3 are correct c.  1 and 4 are correct   

d.  3 and 4 are correct  e.  Answer not known 
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rhpahd nghUj;jq;fis Njh;T nra;aTk;  
1. fprhh; fhd;   - xhprh  
2. Jh;fhtjp   - Nfhz;l;thdh  
3. uhzh cj;arpq; - Nkthh; 
4. fd;th; khd;rpq; - m[;kPh;  

a. 1 kw;Wk; 2 rhpahdit    b. 2 kw;Wk; 3 rhpahdit  
c. 1 kw;Wk; 4 rhpahdit    d. 3 kw;Wk; 4 rhpahdit  
e. tpil njhpatpy;iy 
 

193. Assertion A: Federalism is merely an institutional arrangement for  sharing power across 
   multiple levels of government based on the principle of shared rule and self-rule. 
Reason R: Federations, have constantly adjusted and adopted depending on political, social, 

and economic situations. 
a. A is true but R is false 
b. Both A and R are true and R is correct explanation of A 
c. A is false but R is true 
d. Both A and R are true but R is not the correct explanation of A 
e. Answer not known 
$w;W (A): $l;lhl;rp vd;gJ gfpug;gl;l Ml;rp kw;Wk; Ra Ml;rp vDk; nfhs;ifapd; 
   mbg;gilapy; murhq;f epWtdq;fspd; gy epiyfspy; mjpfhug; gutiyf;  
   nfhz;Ls;sJ.  
fhuzk; (R): $l;lhl;rpfs;> murpay;> r%f kw;Wk; nghUshjhu #oYf;Nfw;g jk;ik 
   njhlh;r;rpahf rhp nra;J jftikj;Jf; nfhs;fpd;wd.  

a. A rhp Mdhy; R jtW  

b. A kw;Wk; R rhp kw;Wk; R vd;gJ A d; rhpahd tpsf;fk;  

c. A jtW Mdhy; R rhp  

d. A kw;Wk; R rhp Mdhy; R vd;gJ A d; rhpahd tpsf;fk; my;y  

e. tpil njhpatpy;iy  
 
194. Which of the following statements about the Guptha society is true? 

1. The Guptha emperors called themselves as Parama Bhagavatas 
2. Trade with Rome and China flourished 
3. Women were debarred from exercising public rights 
4. The custom of Sati was practiced by them 
a. 1 and 3 are correct  b. 3 and 4 are correct  c. only 4 is correct   
d. 1, 2 and 4 are correct  e. answer not known 
fPo;f;Fwpg;gplg;gLgtw;wpy; Fg;jh;fs; fhyr; rKjhak; Fwpj;j $w;Wfspy; rhpahdit vit?  
1. Fg;j murh;fs; jsq;fisg; guk;ghftjh; vd;W mioj;Jf; nfhz;ldh;.  
2. rPdhTlDk;. NuhKlDk; tpahghuk; nropj;jJ  
3. nghJ epfo;r;rpfspy; gq;Fngw ngz;fSf;Fj; jil ,Ue;jJ  
4. cld;fl;il VWk; gof;fk; ,Ue;jJ 
a. 1 kw;Wk; 3 rhp    b. 3 kw;Wk; 4 rhp    c. 4 kl;Lk; rhp    
d. 1> 2 kw;Wk; 4 rhp   e. tpil njhpatpy;iy  
 

195. Which of the following are wrongly paired? 
1. Obligation for the state and individual to protect environment  – Art 48A 
2. Early childhood care and education for all children until they  - Art 45 

complete the age of fourteen years 
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3. Separate judiciary from the executive in the public services of the  - Art 39 
state 

4. Voluntary formation, autonomous functioning of cooperative  - Art 44 
Societies 

 a. 1, 3 and 4 only   b. 2, 3 and 4 only   c. 1 and 2 only   
d. 3 and 4 only   e. answer not known 
gpd;tUtdtw;wpy; jtwhf ,izf;fg;gl;lit vit?  
1. Rw;Wr;#oiyg; ghJfhf;f muR kw;Wk; jdpeghpd; flik    - tpjp 48A 
2. midj;J Foe;ijfSf;Fk; 14 taJ KbAk; tiu Foe;ij  

gUt guhkhpg;G kw;Wk; fy;tp        - tpjp 45 
3. khepyj;jpd; nghJr; Nritfspd; eph;thfj;jpypUe;J jdp epjpj;Jiw  - tpjp 39 
4. jd;dhh;t cUthf;fk;> $l;LwT rq;fq;fspd; jd;dhl;rp nray;ghL  - tpjp 44  

a. 1> 3 kw;Wk; 4 kl;Lk;   b. 2> 3 kw;Wk; 4 kl;Lk;   c. 1 kw;Wk; 2 kl;Lk;   
d. 3 kw;Wk; 4 kl;Lk;   e. tpil njhpatpy;iy  
 

196. Identify the incorrect statement Lok Adalat  
a. Lok Adalat is a mechanism for speedy trial of the disputes  
b. It is not a tool of the legal system  
c. It is  a kind of forum to settle cases in an amicable manner  
d. Lok Adalat goes to the people to deliver justice at their door steps  
e. Answer not known  
‘Nyhf; mjhyj;’ gw;wpa jtwhd thf;fpaj;ij fz;lwpaTk;  
a. Nyhf; mjhyj; vd;gJ xU tof;Ffis tpiue;J Kbf;fty;y nrayikg;G  
b. ,J rl;l mikg;gpd; fUtp my;y  
c. tof;Ffis rkhjhd Kiwapy; KbTf;F nfhz;Ltu xU tifahd kd;wk;  
d. Nyhf; mjhyj; kf;fs; thrw; gbf;Nf nrd;W ePjp toq;FfpwJ  
e. tpil njhpatpy;iy  

 
197. Match the following:  

Subject Protected       Year of the enactment  
 A. Beedi and Cigar worker      1. 1979 
 B. Contract labour       2. 1976 
 C. Equal remuneration      3. 1970 
 D. Migrant workmen Employment Regulation  4. 1966 
  A B C D 
 a.  1 2 3 4 
 b. 4 3 2 1  
 c. 3 2 4 1 
 d. 2 3 4 1  

e. Answer not known  
fPo;f;fz;ltw;iwg; nghUj;Jf:  
ghJfhj;jy;        ,aw;wg;gl;l Mz;L 

 A. gPb kw;Wk; rpfnul; njhopyhsh;fs;     1. 1979 
 B. xg;ge;jj; njhopyhsh;fs;      2. 1976 
 C. rk Cjpak;        3. 1970 
 D. Gyk; ngah; njhopyhsh; Ntiytha;g;G xOq;fhw;Wjy; 4. 1966 
  A B C D 
 a.  1 2 3 4 



 

61 | Page  Ph: 044-24339436, 42867555, 9840226187 
 

 b. 4 3 2 1  
 c. 3 2 4 1 
 d. 2 3 4 1  

e. tpil njhpatpy;iy  
 
198. Who said, Delegated legislation and administrative tribunals are the manifestation of ‘New 

despotism”?  
a. John E. Kersell   b. Sir Cecil Carr   c. Lord Heward    
d. D.L. Hewit    e. Answer not known  
rl;lkpaw;Wk; mjpfhu xg;gilg;Gk;> eph;thfj; jPh;g;ghaq;fSk; “Gjpa rh;thjpfhuj;jpd;” ntspg;ghL 
vdf; $wpath; ahh;?  
a. [hd; E nfh;nry;   b. rh. rprpy; fhh;    c. yhh;;l; `pthh;L    
d. D.L. `ptpl;    e. tpil njhpatpy;iy  

 
199. Match the following:  

A. Pitt’s India Act, 1784   1. Decentralization of the Legislative powers of   
      Governor – General  

B. Charter Act, 1813   2. Governor – General’s Government was  
  known as Government of India for the first time  

C. Charter Act, 1833   3. Appointment of Board of control of six members  
D. Indian councils Act, 1861  4. Deprivation of East Indies company’s monopoly  

of trade in India  
A B C D 

 a.  1 2 3 4 
 b. 3 4 2 1  
 c. 4 3 2 1  
 d. 1 3 2 4  

e. Answer not known  
fPo;f;fz;ltw;iwg; nghUj;Jf:  
A. gpl; ,e;jpar; rl;;lk;> 1784    1. fth;dh; - n[duypd; rl;lkpaw;Wk;  

     mjpfhuq;fis mjpfhug; gutyhf;fk; nra;jy; 
B. rhrdr; rl;lk;> 1813   2. Kjd; Kiwahf fth;dh; - n[duypd;  

      murhq;fk; ‘,e;jpa murhq;fk;’ vd  
    miof;fg;gl;lJ  

C. rhrdr; rl;lk;> 1833   3. MW cWg;gpdh;fisf; nfhz;l fl;Lg;ghl;L 
          thhpak; epakpf;fg;gLjy;   

D. ,e;jpaf; fTd;rpy; rl;lk;> 1861  4. ,e;jpahtpy; fpof;fpe;jpaf; fk;ngdpapd; th;j;jf 
Kw;Whpikiaf; Fiwj;jy;  

  A B C D 
 a.  1 2 3 4 
 b. 3 4 2 1  
 c. 4 3 2 1  
 d. 1 3 2 4  

e. tpil njhpatpy;iy  
 

 


